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mark in that question.

Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on
the Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero

Tangents drawn at the end points of the diameter of a circle are : Py U LB 7 14U
(4 Perpendicular 5" (B) Intersecting /6 (C) Now-Parallel (174 (D) Pasallel 17 ()

: .-_-_B':f_...-..,:t.:df 7 !-'Lf..eﬂéif__fl: 2
The Senn Circumference and the Diameter of a circle both Subtends a central angleof
W % ® 18" @ 20 ® 3"
A tangent line intersects the circleat @ : l;f#b’____,ft_}l;uwﬁ_g &)
(A) Single point 5L (B) Two points 4B
(C) Threepoints blicE (D) Nopointatall uﬁ’}d‘/,&df
Radiiofacircleare  : O Lguw.uiaxﬁml:gﬁhﬂ @
(A) Allequal izl (B) All unequal ,/mzrﬁ
(C) Double of the diameter Lﬁ:_%./l"" (D) Half uf an)ﬁehpﬁi .L:l;,ﬁd" Lf( N
Scczﬂ=_ 3 f‘\\f - _=Sm‘.2 6 &)
(W) 1-sin®0 (B 1+’ (O génﬁ" 6 (D)1-tan®@
The most frequent occurring observation W%t is called : q.dW/ p dlsi..f...- /o:l...r:.uf@'-' :lfo'r (6)
(A) Arithmetic Mean  b-si(}L> & () (B) Median .- |
(C) Harmonic Mean sl STA<\)- (@) Mode we I [
Point (=5, =7) lies in the Quadrant : Lt—nuccb (-5 -T)Jw] (7
@ 1 ® 1 © m @ 1 N
The different number of ways to describe a setare : - q.Jmu.JJ RS LS S Wk forl (8
W 1 ® 2 © 3. @ 4 o
(x+3)2=x%+6x+9is : q_...f'l(x+3)2"x +6x+9| @
(A) Linear Equation w=tsbs(fnf (B) Identity =l
Dbl g . DDl Bae o ~ .
The Mean Pruportional of 4m? n* and plis : {_.,_.’-I,;Jr L}Jml{ p .ul 4 m? (1 0)
(a) £+ 2m np®  (B) + 2mm?%p° (© +2m®n®p® O F+4am®n?py®*
If y? ocx—athen: :?ﬂyzocx%fl An
Wy =3 ®)y 2= 3 @y = Oy =k
TheDiscnmlmtnfx +Ex+16 Ois : {..l.kfg.’/'rx +Ex+16 0 (12)
W 1 ® s © 1 ©® o0 . .
Sum of the Cube roots of unity is : {...vr" F'Jlfyf.{jh’i 13
W o ® 1 © 1 ©® 3
The number of metlmds to solve a Qua.drattc Equation is * u?é[-) df J:-L; J’ f --vUL-‘L;JJ » (14}

Ay 1 @M 2 () q (D) 4
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Note : 1t is com utsarv to attempt (6 -- 6) parts each from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03) questions from Part I
While O.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. L Prin ol (Part—D il e

Define Radical Equation. SIS S enafie (i) 24U
Solve by Quadratic Formula. 2+9x=5x2 LSS G 2 (i)
Solve the Equation by Factorization. 22+ 5=11x OO P (1)

Ll eifk It ;K?/}L)‘EZ:-UJHLJFJI{{UJML X2 +(3K-7)x+5K=0=tls (iV)

: 3
Find the value of K, if sum of the roots of equation x* + 3K - x + 5K =0is 5 times the product of the roots.

Prove that the sum of all the Cube Roots of Unity is zero. P F’Jukiéﬁf sZok (V)
Write the Quadratic Equation whose roots are 2, - 6. JJ'-'J elslafn udisuj w 2,-6 {VI}
Define Fourth Proportional. A ,:g.F.(" A de (Vi)
Find Mean Proportional between 2013)'5.5::7):. Jr}"-fl;rlaﬁ}uﬂﬁ 20x° y 5%7 ¥ (wviii)
1
If VX =5 and V =5, whenr =3, find constant K. i{ﬁ”-{é&?mi 32 V=5ul VX -:_;/ (ix)
Define Proper Fraction. -—é’!—-‘-‘fJ/hﬂ?h ") 3/:’:’4_113’
3x-1 A B SN 3x-1 A B
If 5=~ + — thenfind Aand B, BB AT G e e S A ()

Edrn S (i)

Convert Improper F
proper Fraction into Proper Fraction, \‘,\f 2:2 —

A
~T e
Define a Function. ) H},‘V LS (iv)
Find @ and bif: [ (2a+5 3)=(7,b-4) : f:g’r}v bsia (v)
If X={a,b,c}andY ={d,c } then find Yx X. -ﬁﬂ”"‘fx){;ﬁ Y={d,e}sX={a,b,c} /i (vi)
What is meant by Dispersion? ' Cest Al 5 (vii)

Find Arithmetic Mean by Direct Method for the data, 12, 14,17,20,24,29,35,45 -2 baifloe 3t Lbi (viii)
e Iy ik S £ 24,8205 (iX)

Find Geometric Mean for the observations 2,4 , 8 using basic formula.

Write the 307 into Radian. 2 rgid 3% () AL
Find‘r’, while : £=52cm,0 =45° s Btek 0 (i)

Verify the Identities : ir—'—g:—;ﬂ = 1+tan® gl (i)

Define Quadrantal Angle. Ll (iv)

Define Acute Angle. sk (V)

Define Tangent. e (vi)

Define Chord of a Circle. By EnLe s (vil)

Define Radius. gy AU (viii)

b ke S L P (1)

JThe lenath of each side of a Reeular Octagon is 3cm. Measure its Perimeter.
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'(4) Solve : sx2 = 7x'2 -2 s 2L () 5AU-

(4) ¢2=2%(1+m?) )‘M:u.ﬂ..:lf,;fuﬁ 4 (mx+c)? = dabeSE et (@)

II Show:that the Equation x* + (mx + ¢ ) = a® has equal roots if ¢ = a% (1+m?).

(4) -é‘J (x+3}2F(x 5)2 _E UI’L"‘L—JWFLV‘JMH’&p () 6Jr

(x+ 3}2 +(x— 5)2

x+32-@x-5% 4
(x+3)2+(x-5)% 5

Using Componendo-dividendo Theorem, solve the Equation.

(4) Resolve f—ﬂ—: into Partial Fractions. 2 oS snd :;1’: (=)

(4) 1 Ji (@) 740
A={1,3,5,7,9}
B={1,4,7,10}
c={1,5,8,10}

Then verify | : gty
(ANBINC=AN(BNC) \)
(4) .,,g&t};;g: e ¥ fosgy ()
f:-\j

The Salaries of Five Teachers in Rupees are as ful]mys &
11500, 12400, 1509&314500 14800

Find Standard Deviation. ANY -ér#‘._if/uj;w
(@) J r,w\&v, 8 Sy F 3 sin@<0 s Tan@=7 Ji (W) 84|
If Tan 6 =3 2 mdsind -'f{tm:\iﬂ the values of other Trigonometric functions at 8 .
(4) __x|CA|=3cm «|BC|=3cm «|AB|= Sem LurLtSattiny »#¥ AABC ()
Inscribe a circle in a Triangle ABC with sides | AB'| = 5¢m , | BC | = 3cm, | CA | = 3cm
(8) e bt 13 BB SGE S G NG e S p LSt AUy
Prove that a straight line, drawn from the centre of a circle to bisect a chord (which is not a

diameter) is perpendicular to the chord.
OR L
(8) L2y cunCiafeds PG LI 2o st SEE b

Prove that any two angles in the same segment of a circle are equal.

i ———
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Note : Four,choices A, B, C, D to each question are glven. Which choice is correct, fill that circle in front of that guestion number on the

Objective Bubble Sheet. Use marker or r pen to fill the circles. Cutting or filling two or more circles will result In zero mark in that question.
-

H a'lrm

The measure of the external angle of a Regular Octagon is : q_Jleﬁd’.L_qus,gﬁu‘bf".le’U"’
w § ® 7 @ 7 o ;] L

q..hf......_..nbd/ 68 79230° ,..sud)' re? _L/,; :.-..u.'.'u:'} J I.r‘;.-&z_xh..ﬁ (2)
Out of two congruent arcs of a circle, if one arc makes a central angle of 30°, then the other arc will subtend

thecemmalangleof : (W) 90° @) &° (@ 30° @ 4° |
Acirclehasonlyone .{_.I:'.rf..__-iﬁ.f KLl (3D
(A) Chord 75  (B) Radius (s (C) Diameter S (D) Centre J, |
Radii of acircleare : Ul gLl (@)
(A) Allunequal iV (B) Allequal 414V
(C) Equal to diameter 1L 49 _ (D) Greater than diameter &-2ed? |
Sec?f=_ (glf‘“"” i =Sec? 6| (B
() 1-5in"0 (B) 1+0°@ (C) 1+c0s*0 (D) 1-tan@\ & X
The spread or scatterness of obsenratmns in a data set is culled.;fﬂﬁ\j : q-t'llf( I Sy 210 UJ (6)
(A) Dispersion A% (B) Mean k-l (C} ﬁ{gd{ vl (D) Median -y
The number of elementsmpowersct of {1,2,3 }ig Q> L.Jml..w{fu!-’.aléuﬂul.ﬁ { 1 2,3} M
a) 8 ® 7  (© aN &{D} A
IfASB,thenA-B=..... : L\?V tA-B=..... jacB/fi| ® ]
w 2 ® o @ (o) ® B

Do cond £ Exdsx+ 42 =253+ 40x + 162L1| (@
The identity ( 5x +4 )% = 25x + 40x + 16 i true for the ofx !

(A) OneValue =dfi (B) Two Values U725 (C) SomeValues U 4 (D) All Values U5 o2

If a:b=x:y then alternando property is : P ezl Inatb=x: y; (10)
W atbzcrd ® =2 (@ 5:5 @ o=z

InProportion7:4 :: P:8,P=.. ... : NS C P e ulida D 8| A
N 84 (B 56 © 28 (D) 14 o |
Twosqua:emutsofum“l;a;t:_- o Y : u!dl/uipu’:dﬂ (12)
@ -1, ® 1,3 @ 1-w @O 1,w,w

Roots of ax +b; :'_c:_ H_v:rﬂl be equal if : B m:“ﬁjﬁu,m:l/.ujuﬁ axz-l*hx*.-::.; 0 (;3}
(A) b*>4a0  (B) b <dac () bP=-4ac (D) b%=4ac .
i towOixiasgtion: : e cblof bxtc=0| (14
(A) Quadratic Equation elsisf..s5s (B) Exponential Equation =ls+(lfes

(C) Linear Equation = llrfust (D) Radical Equation —J!L-‘L_fJf_____ 5 m am i
Sum of all possible values of x in 5x%=15x is ¢ ﬁ-_;:"fur"u:'gfxgﬁ Sx = ISx (15)

@ 3 ® o © 15 @ 5

P o T i, . . .

L1 o —
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MNote : it is compulsory to attempt (6 -- 6) parts each from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03] questions from Part Il.
While Q.No.9 is compulsory, Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. .Lft-;u":unxdnﬂukz I (Part—-1I) ,Jil das

Solve by Factorization. l=y(y-5) TN ED
Define Radical Equation. LS PSS
-érL;GJJ!L"L;H 9 .!':.*._P;ﬁ:_d..:ﬁ 7 .,',.ﬁd"bl-’ (x-3) »1(x+7) A

If the product of (X+7) and (X~-3) is “~7" then convert the sentence into quadratic equation.

Find the Discriminant of : - 6x2~8x+3=0 L)
Prove that the sum of all the cube roots of unity is zero. _q..t‘.r!}".nf f.._.«:ﬂl.a.ipﬁqjt’i.l" A
If Vo ri: andV=5,whenr=3, findconstantK. &5 =df Kin r=3 o2 V=5 4l VX —15 /i
Find the Ratio of 200 gram to 700 gram. ic"{r:"" _.-:-‘U:Elf 700 c-rf/r 200
Find Fourth Proportional to : ax? 23, 185> o *;\__'”"‘ dfr}" 32
Define Direct Variation. \_\#5\,25‘-\.{}3’ oy ey
Define Improper Fraction, _. ;‘i&}—) 4 uﬁ:_i' /’”' if Ty
if = 3:)2’11 5" «—2— +—" then find A end B. _,.!_5',»}*\“_!.;359,,:»‘ I 3:];1 o L i

ifA={1,2,3}, B={2,5}thenfind AxB,, \@ﬁ;xs;na {1,2,3},B={2,5}./
Define ‘ Onto” Function. {\\f‘i\f o oSS ST
‘l?«f" LIt F S L MxXM 3 535kl M

Ifset M has 5 clements then find the nm-an- of Binary Relations in MXM,
LBt R 7 R={(1,2),(2,3),(13),(3,4)}/

¥R={(1,2),(2,3),(1,3),(3,4) } thenfind Domain and Range of 'R,

Define Median. oy P S
Find Mode of the Data. 2,6,10,8,9,7,5,12,8,6,8,2,2 Uk Kty
Find Arithmetic Mean. 200, 225,350,375, 270,320,290 bl
Define Coterminal Angles. Sl
Convert =150 into Radians. A PSyi /-150°
Find 8 , when : £=45m,r=25m : JEJ;‘:"‘:’EJB
Simplify : sin? x. cot? x : A
What is meant by Arc of a Circle? Sl A e F ot
Define Tangent of a Circle. vl
Define In-Centre. -é...y}:"off/ 2w
Define Escribed Circle. e

PP Ll e Juge? Lo A

JThc length of each side of a Regular Octagon is 3cm. Measure its Perimeter.

(i) 2+4Jir

(i)
(iii)

(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(0
(ii)
(iii)
(iv)
(v)

(vi)

(vii)
(viii)
(ix)
(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)

3 Ui

4/ )iy
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Solve the given equation using Quadratic Formula :
3x* + 8x+2=0
..’-_'.fr:’*‘.:.-EJaz B> ;u.uujuﬁfl-xz— 5x+6=0c=b B, A @
Ifo,f arethemotsofequation4x2 - 5X + 6 = 0 then find the value of Clz B=.

8-x:11-x::16-x:25-x
3x+7
(x% + 1) (x +3)

Find the value of “x’

...Z;‘J!I? u-'..rr/ 97
Ji

(w)

Resolve into Partial Fractions.

If

C‘.

={1,2,3,...,20}
={1,3,7, 9 15,18,20}
={1,3,5,...,17} _,

Then show that : ;j ’f

y-Xx= ynx,%- \1.6.\-_;
P ZE e /:Ls..L-»dwg,tJ&;u/uf Pl udrlu g

/

The Marks of Six Students in General Scnent{é are s as follow. Determine Standard Deviation :

H&H

D Zhetin

()

o
1\\"\4‘

s gl ad x () 84U

(an 7/=“'J*r

ﬂ

Student

.,

Y \1\:/.‘

1 |
S o

2

3

4

~

4)
|
|
(4)

l,

(8)

|

|
|
|
i e o
!
|

42
2/
4

i 60 | 70 | 30 | 90
-Z;-‘-:‘r’:'”uf’-?.‘; 7 JJI.‘;J?:“JQ?!! sin@ <0 . cotB =

3 Z &
If cot@ = A and sin @ < 0, find the values of other Trigonometric functions at @ .

.u:?’JVJ}?uﬁuf_w ("5 1l f"4 Jlu.é:u:ff:i.ﬂf_./uf'u

80

(w)
Draw two Common Tangents to two touching circles of Radius 4 cm and 5 cm.

_zl:.l.'.“mf..;}s ‘ H;‘E’-Uls';/_if"nd’(ﬂ;ﬁﬁ)?m(:. f/é;fﬁfiﬁd"
Prove that a Straight line, drawn from the centre of a circle to bisect a chord (which is not a

diameter) is perpendicular to the chord.
OR L
_bg.?_,m;:,grfg ‘ u,::gu;,n:.}u;ﬁ@_ijgé.;ljfzﬁmr

Prove that any two angles in the same segment of a circle are equal.

() 8-Jir

Qﬁ‘}dlr
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Note : Four possible cholces A,B,C,D to each question are given. Which cholce Is correct , fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question,

JRON

The measure of the External Angle of a Regular Hexagon is : r. O i g sl Ju,g L ;_.&—-*rﬂ" il A
w2 e reol ol o
P J—— SISAP ¥ Spmin 30009 6 ¥ U9 L N ik UrdSF 1 & < £ (2)
Out. of two Congruent Arcs of a circle, if One Arc makes a central angle of 3[]“', then the
other Arc will subtend the central angle of : (A) 30° B 4° (© 60° @) 15°
- L,g-?.'..rr- JJTW£§’{UJ’/£)3£¢.}!; (3)

Tangents drawn at the ends of Diameter of a Circle are ——- to each other :
(A) Collinear %~ (B) Non - Parallel Ji#2 (C) Parallel (5 (D) Perpendicular  »f

Radii of a Circle are : NS, 4% Y SR i e (4)
(A) Half of any Chord Lch.-}JL}{L’f{B:I Double of the Diameter TPy
(C) All Unequal .-:L{/!rlﬁ (D) All Equal xlmlg.“_. A
1 1 S5in© D\
@ 3o ® Twe © Sin® O 55 oY sedCo® = 2 | (8)
A Histogram is a set of adjacent : : 4}3\\5« T L o ..u‘f..‘jd ¥ (6]

(A) Circles ¥ (17l (B) Squares ¥ U#ly {Gjmﬁglgles ¥ & (D) Rows ¥ yul§
The spread or scatterness of observations in E,a%-'g’a;)\eﬁs called : : &~ el g ¥ ol 2 u’r )
(A) Average L»l (B) Dispersion ;I.‘.-Tfl1 j@;f?l{(féntral Tendency uiﬁid}f* (D) Mode  wb
Point (-1,4) lies in the Quadrant .--?«Ef\‘if‘} ' b A O (-1,4) B (g)
(A) @ W (© IV (D) 1

Power Set of any empty set is ;= Vo B

A {a} ® {9 }..,..._...‘C’ {p. {a}} O ¢ !

W — nlesASL N § et | o)
A Fraction in which the Degree of Numerator is less than the degree of the Denominator is called 5

(A) An Equation b~ (B) An Identity =L
(C) An Improper Fraction /.,-a!y! (D) A Proper Fraction /.!..?;h
The Third Proportion of x> and yz is : ety 1 1 y> ol x2 (11)
4
, @ v/ ® & © ¥ o yx
Ina Ratio x 1y, 'y' is called : :q..t'w,'y';ﬂx:y.:.-a;} (12) |

(A) Consequent ﬁd/» (B) Relation Jw (C) Antecedent g:d:‘ (D) Proportion sl
I De b A2 2k I L X x -1 = 0 =i B, S| (13)

If o, B are the roots of the equation xz- x =1 = 0, then product of the roots 2 & and 2B is :
| 4 -2 ® 2 (© 4 (@ -4

Product of Cube Roots of Unity is : ! N ¥ .,.:ﬂlzjf 'y (14)
i (A 0 B 1 (O -1 (D) 3 ;
The number of Methods to solve a Quadratic Equation is : q;a.)ﬂgfd' S ahadn n| (15) |
A) 1 (B 2 (€ 3 (D) 4 ﬁ"
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Note : It is compulsory to attempt (6--6) parts each from Q.No.2,3and 4. Attempt any (03) questions from PartII
while Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the question paper.

36=2x18 IMakediagram where necessary. -ifhd"lpﬂd-ufbkti (Partl) Jilo

-

Solve by Factorization. xz - 11x = 152 _E':‘d" dyf" 2k (1) 24 Iy
Write in Standard Form. = _1 / Tedacs ! T A Pt § 2l (i)
Define Radical Equation. g J el (i)
Find the nature of the Roots of the Quadratic Equation. x>-23x +120 = 0 -Z5# (U1 § U £ e 5 (W)
Evaluate, w37+ w3B +1 ..év' (v)
Write the Quadratic Equation of given roots : -2,3 -.'-:ﬂ el Ea o s u’u .44.; (vi)
Find a Mean Proportional to 16 and 49. S 3k K 49 41 16 (vil)

,xyﬂﬂ.ﬁzfz’rﬁ"x'?ﬂx=3...-a y=4 o )'P‘% ,JT (viii)
If }'Né and y=4 when x = 3,find'x' when y = 24

e o I de2t 5 a3+ 1 1 6+ ax U Sl (i)
If the Ratios 3x+1 : 6 + 4x and 2 : 5 are equal then find the vkln‘ﬁle‘}f "x',

Define Rational Fraction. ; \(_3/) T Ew A G o s
2 N\o
. . G- 2x - T - P
Convert into Proper Fraction. ﬁi\b ...'-'_i' S L /.._.#.h (i)
= X AN
Define One - One Function. N *é&é‘/; S Sbus-on (i)

..«"\\\f';‘/
e B -{,..g;\{f,}= {1,2,3,4,5},B = {2,4,5,6,8} J v
¥ A={1,2,3,4,5},8B={2,4,568) then find B- A .

if Y=2",T = 0", then find (YUT. EpyuT JY=2" ,T=0" Sy
Find a and b, if _\-\';i§&‘}/{l2a+5,3)={?.h—4] S e bul a (i)
Define Geometric Mean. Y 4£—Ej3 J .I--:'u::_jl (vii)
} 200,225, 350, 375,270, 320,290 &5 ol ¥ sy 4 i)
Find Arithmetic Mean for the given set of data ; 200,225, 350,375, 270, 320, 290
Find the Range. 11500, 12400 , 15000 , 14500 , 14800 SZE ke (ix)
Define an Angle, S ) 4y
t Convert 225° into Radian. 2 2ot S 225° iy

Find " 1" when r =4 .9cm and © = 180° e =4.9cem o ©=180" G &k v £ i)

Prove that : Cos’@ + Sin® = Cosecd® S (W)
Sin©

Define Right Angle. o 6 )

Define the length of the Tangent. s WS uv i)

Define Arc of the Circle. ZF oS e v

Define an In Circle. _.g;{....gf'" N {vil)

e bk 30U E L SE

The length of each side of a Regular Octagon is 3 cm. Measure its Perimeter.

A EEE




| L.K.NO. 71 (Partll) po.) [U;_,?g, A 58

@

4

@)

4

C)

4

“

“

t)

@)

)

2 e BpJE 72 +2x-1 = 0 b (W) 540
Solve the equation by Completing Square 7%+ 2x -1 = 0

_un.ci..gg/L[.. {lec--l)x2 +3kx+ 3 = 0 -:..«IJLA/(PE.”;(.!I“‘»:-‘.?J'K' ()

Find the value of 'K' if the roots of the equation {2k-1}x2+ 3kx+3 =0

are equal.

(x+5)3+ (x-3)

3 3 4
+5) - -3 i : - 7
(x+8) - lx ]5" =12 LSl St Lk () sn‘dfr!
i
!
Using Theorem of Cumpunendo - Dividendo, solve
{x+5) - (x- 3) 13

(x+5)3+ (x-3)° 14

Resolve into Partial Fractions. 3 3 2\ _éugliu: #5s2 (&)
(x-1x+ 2 @27

Y={1,3,5,—-,17} y X ={1,3,7,9,15,18 2@},911 {Izs-uzo}ﬁ(JI)T/?Jfr
”y-n? Ynx zEeckin

If U={1,2,3,—,20}, X={1,3 ,, *‘,\9\,1518 20},Y={1,3,5—,17}
| then show that 1\‘Y wi/ N x
.,:Qxf-..*.x.x !
Calculate the Variance qf\the Data. _érP .-..c,c’T J .atrJ_‘jt-,.u ()
10,8,9,7, 5,12,8,6,8,2 |
Verify the Identity. tan@ + Cot® = SecOCosec® et S L () 8 A0
o4l § &g & SFadtaa o § ABC SALISIG () 5

Circumscribe a Circle about an equilateral Triangle ABC with each side of

length 4 cm. ﬁ
_.L,f_r'?_mﬁ't"‘ Al un el o Dpznn L dEet 94
Prove that two chords of a Circle which are equidistant from the Centre are

Congruent.
OR b
s el un Bl 2o B Gl 2 Lo S B

Prove that any two angles in the same segment of a circle are equal.
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Time Allowed : 20 Minutes . SSC (Part-11) w2 20 =

Maximum Marks : 15 Session (2019 - 21) to (2021 -23) 18 :  AF

@ (Swp~2-23

[ s B S 23 QL R s na LU & sl L v g3zt £4 5 D,C B, A ezl Jiry 1 daed
_fnar‘jbuur{?uﬁgdﬂui‘JLfJuﬂL& S Usreslie i
Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle Infront of that question
number. Use marker or pento flll the clrcles. Cutting or filling two or more clrcles will result in zero mark In that question.

Sum of the Cube Roots of Unity is : e A ¥ e £ 00 12,

(A) 1 (B) 0 <G -1 (D) 3 (1)
The Discriminant of ax* + bx + c=0 is : f,-._rm.c:@}r ax’ tbhx+ec =0 @i (2)

(A) b® - 4ac (B) b* + dac (C) -b> + dac (D) -b2 - 4ac
The Solution Set of the equation ax? - 16 =0 is : S = -::‘LJ’ ¥ 4x2 =16 = 0 &bl (3)
(a) {24} B {4} © {z2} (O =2
If }'204—13- then :. M jrzvﬂ—%- A1 @
X x
2 1 2 2
Wy =5®7=x @ y2=—1‘5-m} ¥ o=k
The different number of ways to describe a Set are : . e Wuﬂ)ﬁﬁuuk L el 5)
(A) 1 @B 2 (€ 4 (53 \§ -
-2 o -2
Partial Fractions of ——————— are of the form : A\ G iz f —Z2— 1 (6)
(x =1)(x +2) e f:;\\_;a ! (x-1)}x +2)
A B Ax ©R | mec . AxsB . C
. X
(&) "'1+x+2 (B) x-1 x+,;_(cj-v’ X+ 2 (D) x-1+x+2

In a Proportion atb:ic:id, bandt:w,a\mlled: i Ll cabLaibiicid b | (7)
(A) Extremes ,ﬁ) (B) Fuurth Pmportiug\ihwﬂ?g (C)Third Proportional wEl~# (D) Means W]
If AB then AUB is equal fa'}- t b 4t AUB 3 AcB S| (8)

<@ B B A © ¢ O {¢}

@ sine B zas © 3os @ oo SecOCot® =—m? | (9)

D bt —— 2K o I e bl S ' 2| (10)
Sum of the Deviations of the variable 'x' from its Mean is always —— :
(A) Same lxfl (B 0 (O 1 (D) 2

f e O 4 Wl ubic el dr @ | (1)
The most frequent occuring observation in a data set is called :
(A) Arithmatic Mean Lii}l> (B) Median #k-s (C) Harmonic Mean ksl T4 (D) Mode wle

A Complete Circle is divided into : te bl | e L end| a2
(a) 0° ® 180° (© 270° (D) 360°

The measure of the External Angles of a Regular Octagon is : & du & § ugsts dse £ ._-F’,P i (13)
w3telolol

.r D s 6 P blugall ¥ 60° ¢ 2 2 bl Fafl] (1)
A 4cm long chord subtends a Central Angle of 60° the radial segment of this circle is :
(A) 4em (B) 3em (C) 2em (D) 1em

A Circle has only one : P bt e (8 L ¥ I | (15) :
(A) Secant Gk (B) Centre Jr (C) Diameter A (D) Chord




—

-

| s auz o pozras) o5 J»@J?"{;c}cf:f Z'}- l'; 23” 2D S
» L n - B, 1",
LMntIumntlcn ( Subjective ) g9 ' AKX &2, 100 Tt - A - Exam 2028 | (Z8) Lf.'.igl

CAR 1 SISy fip 121 A
s ' HZ1 (8 «8)Z Uy et 4 413, 2 AJrERJILe ""’Lr)
g SR Szt e g, q;qnyg_.;_uﬁ Vit Setndedf ’

Note : It Is  compulso
while q_llun,g ?;, |:uﬂllvmp1[;,._ 6) parta ench from Q.No.2,3nand 4. Attempl any
mpulsory. Write same Questlon No, and lin Part Na. as given [»

(03) questions from Part Bl
the quensilon papen

3.5'..1,13 Make diagram where necessary, LI LT ( Partl }'J.:L#

L .: aire e e oo
Define Radical Equation, e e Jdf § el ) 140
Wrlte In Slandard Vorm, - :1 L s 1wt -#ﬂu‘ Nl"’ (n
i X
Solve by Factorization, . J—— -#'JU/(JJ} (i
Find Diseriminant. 41)‘{2 Mo 2 =0 -ﬁr""”"‘@) )
Evaluate, ' wi w-‘.l? -gf)" od )

Write the Quadratic Equation having roots : 2,-6 .gﬂ whlafn » dmﬁ:&fa.-a (vi)

.-

I

Define a Function. -ﬁ.y’ J' Jw (v
What js Range? L e (vl
}Flnd Harmonic Mean for the given data, -gr’t" H-ﬁﬁé’-&ﬂr&f@;m
What do you understand by Dispersion? Describe. s ey £ B (1)

; Deflne Angle of Depression. -gg._g} ¢ U ald 1y 4 A
LU Lol S 180w

Mbcm AP § vindly oy

¥ A= {2,3,5,7} and B ={3,5,8) then find ANB

U4z 374 4 2P+5 1 3P+4 A ﬁgr}“@!J'P"""}

Find the value nf-‘P' if the ratios 2P+5 : 3P+4 and 3 : 4 arc equal
- x =126 .ﬁﬁ'(}"yan x=2-,4y=1;:ingf{¢',=“‘tﬂxf” yﬁ(\'ﬂl

If y varles inversely as x and y = 7 when x = 2 find ' y'%ﬁh# = 126

Find a Mean Proportional between : 20,45 a ,::_\‘f'_\?J . -ﬁ(ﬁ”w’wa“ (x)
Define a Proper Fractlon. /}{‘\\"\_{;\Hll‘!w ..ﬁ'-.-!'/: J /n.r-‘tll 1) 3t

He 2t (D7 pme o fond B 0
Convert the given Improper Frncﬁon( imﬂj&ﬁ ;raekton. » : 2:-:-:

S‘ﬁ# ANB7 B={358}sA={23,85"7 }ﬁum

., w

S

e e n £ LxMI M= (8,8 }4 L= a,b,e} M aw
if L={a,b,c}and M= {3,4} then find two Binary Relatlons of LxM
Find 'a‘and'b'if(2a+5,3)=(7,b-4) <& ‘b'yi'a' (2046, 3) = (7, b-4) A @

Converl 159 into Kadians.

-, . |
Find " ©" when | = 2cm and r=3:8em A e=3:Gom sl ] w2am 5!”"" A (1)

2
Sin“@ _ _, .
Prove that : —C—:—Heﬂ-l-f_osa = SecO : J’ﬁ:{ b (Iv)
Define Right Angle, "ﬁh!',ﬂ e 2T (v)
Define the Tangent to a Circle. P S g L oy
LS B Lty

Define Chord of the Clrcle.

fength into four Equal Parls.— -Zﬂ'.ﬁﬁuﬂm&fu ;...f'd’ Jli,l[f" (1x)

Divide an Arc of any

('Pro. ™



4

(1)

(4)

(4)

4)

@

(3

(8)

3+ y° = (x+y)( xwy )( x+ wly )

IS8 M V=2.U=328=7 sufF oV ol P UPCE N (O 60y
SV =10 4U =6 5 GEp
If S varies dixectly as v? and inversly as V and S = 7 when U =3,V=2

-‘ﬂ--—m‘—

find the value of 'S' when U=6and V = 10

7% -9

()
(x +1)(x-3) {yyﬁd-"//dﬁz -

Me={y|yePAY<10} & LH{_nx\ixEth'-: 5} S ()74
Ju’ﬁixslwsirnf-wh4m.=%>n { (x,y)ly=x} Ww?
If L={x|x&ENAXxS5}and M = {yLyEPAY{IG}then make the

/f‘u

relaion R = {(x,y)|y = x } fruﬁp[. to M. Also write Domain and
Range of R. ’*‘“4‘3‘"’

R
Find the Standard Devlgfﬁ%bh‘ "S" of Set of Numbers: .ﬁp‘"‘ " J%WP (&)
12,6,7,3,15,10,18,5

Resolve into Partial Fractions.

Verify that Tan® + Cot® = Sec®CosecO L Gk () 84

A a8 § Chlufonbtoatv v ¢ ABC LU ()
Circumscribe a Circle about an equilateral Triangle ABC with each side of
length 4 cm.

Lot SIS e Lo 1y 3 st fisy 0 £ e NS
Prove that if two chords of a circle are Congruent then they will be

92
equidistant from the Centre,:
OR

« ALt 4h (Y Unt By 2 v 5id R g

Prove that any two angles in the same Segment of a circle are 1
equal,

-
- - S - W SN R S M S M A e S s e e e S -
- ——_—

-
e (Swopn~23
LK.NO. 72 [( Part il ) fue”
B T 4 o2 ; ]
’. (4) Solve the Equation. 2 = 9"~ 4 -;élf L ahle () 540
(4) Prove that : | v 2-:.;4& (W)

-
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w200 =3

Time Allowed : 20 Minutes §SC ( Part-11) * 1 F

Maximum Marks : 15 Session (2017 -19) to (2020 - 22) ;

=4

—JJ/L-.J;LJ". ' ui;..-bﬁu"wa-..-I.P...--'.e.u;ufu:ﬂ:f.fénibd:dir‘;{{lrd'?-b"éé" b,C.B, AHF“’"’E""’LJVJ B
st RS ST S i kit
Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark In that question.

Pl Ul axT rbxde = 0 ehadlads » 14w |

{The number of terms in a Standard Quadratic Equation aC+bxte=0 is : (1) !
! 4 MO 3 (© 2 (B 1 (A
| Cube Roots of "-1" are : ; bg_r,.-fjl_-j!.ﬁ"-l" 2)
- e T. B Wz ('D:l -‘1 W, 1.-\.1'2 (C) -l,wl.m-m'rvz (B) -1,-w,-w2 (A) - |
Two Square Roots of Unity are : Pt G e £ Ijﬂ; @) |
- w, we D) 1,-w (Q 1,w (B) 1,-1 (A)
élnaRaHo::y,"y“sscalled: :.T_.tﬂvr'y“utx:y.-.-i;" (4)
;_ ['ruporﬁun wF (D) Consequent ﬁd/y (C) Antecedent ﬁ{.k: (B) Relation JN [A]
EIf U ﬂ(.‘a' , then : A5, 3\“1 U2 V A (5)
_f 2 =
uwW=1 (0 UV =K (Q U= KV {\‘U=
e sreprserserrrerom e e Lt ‘ \
{ Partial Fraction of _"__‘_“,_Ei__ are of the form : 5 d;r%{wé‘t_tk——-- ez J _x+2T____ (6) '
r (x + 1)(x° +2) S (x +1)(x° +2)
| N
' A Bx + C Ax + B (o] N\ &L Bx A B
i rs o A2, =, ©® : W |
X+ x*+2 X%1  Res ,--{%0\&*'1 2 W s xF+2 !
a'. .................. .
" The different number of ways to descnlﬁ.ﬂs Qel‘ are Dbt J U i eri (7)
4«. ( 3. (@ 2. (B) 1 (A)
It AcB then A-B 1se:15a;:39 ebrdeA-B e AcB S| (8) |
! ~
i B-A fD} B (© ¢ (B) A (A
'EA Frequency Polygon is a many sided S uid & L g (9)
| Closed Figure S (D) Triangle &4 (Q) Rectangle J‘#‘J (B) Square &, (A) i
! ] ILI.‘M 26 sl 2 ekl (10) !
{The measure which determines the middlemost observation in a Data Set is called

| Average byl (D) Mean Laidl> [C) Mode  wh (B) Median ks (A)

ESr-:czB S —_— : Sec’® = o t(11) 4}
? 1-tan’@ (D) 1+ Cos?® (C) 1+ tan’® (B) 1- SinZ0 (A)
'A Chord passing through the Centre of a Circle is called : P b 5 il o Sl (12)

Secant 5.8 (D) Diameter & (C) Circumference 47 (B) Radius (A)
B o PBLS, AeLe ¥ P8 ] (13) |

A Line which has only one point in common with a circle is called :

L e o ra—

Cosine of a Circle Cosine ¥ <7 (B) Sine of a Circle Sine ¥ <7 (A)

} £ Jiu ¥ eib- bl 202§ 60° 4 07 2y sl 4 J (14)
i A dcm long chord subtends a Central Angle of 60°.The Radial Segment of this circle is

!
3
-

i
Tangent of a Circle Tangent ¥ &7 (D) Secant of a Circle  Secant ¥ i (C) %
|

2 (D) 3 (@ 14 (B) 1 (A)
Line lntersectmg a Circle is called : : f_t'ﬂ-{f B TS e (15)
Sector /»c (D) Chord 7 (C) Tangent JV (B) Secant d’ i (A)

------- S o p —




(2017-2019) to (2020- 22) ¥ + ewpsS | $.8.CLPart-ll) 109 -G oerd- s
Mathematics ( Subjective ) 60: AF 221025 | SSC - A - 2021 [(ZED) L

L1 SIS fe Pzt (6-6)L D =2 4 43,2 e § e B
...-T'..ﬂw:{.g..;..éir.-ﬁ?p: oL Can A Z ol )l (5 {Q!’l}lﬁ-e:.{f)ﬂ Bﬁd!r.?_q f:.f-?- ul,q_-f;_.Jf

Nate : It is compulsory to attempt (6—6) parts cach from Q.No.2,3and 4. Attempt any (03) questions from Part 1l
while Q.No.9 is compulsory. Write same Question No,and its Part No. as given in the question paper.

36=2x18 Make diagram where necessary. -J_fhlﬁfnduﬂjlg ( Part | ) LJJLJ"
Define Reciprocal Equation, 2 8 g™ ) 24
Solve. xz +2x-2 =0 -éd’ (i)

; Solve by Factorization. 3}'2 =y(y-5) ,.fé-;ﬁjf.g.:.}- (iii)

-éﬁ{rﬁ'JJy L '16:-:2- Bx +1 =0 ahisinn (iv)
Discuss the nature of the roots of the Quadratic Equation 16:2- Bx+1=20
Write the Quadratic Equations having -1,-7 roots, -.‘:’:ﬁ uf.' s (2 22 db;}u =1,-7 (v)
-1+J? _é}‘}”'wz e w=-—-—1+\l—2-_3 Ji (i)
Find a Fourth Proportional to : o, 23, 18¢° -_érr"”wﬁl?g, (vi)
Find a Mean Proportional between : 20,45 _ér:’-" el By (vil)

Find wz, if w=

h‘ AT GE e r =3 aA=24 At (¥

f Aot~ and A = 2, when r = 3 find 'r'when A =72 ATON g
2 AN A )
r o \ <
Define a Rational Fraction. . /\(_D LA S 0 3
x - 11 e (:_?;'1\ “

i Resolve into Partial Fractions. (x-4)(x+ 3?\“\ < ) ..zf_:uE’, ¥ o u,-,/ﬁ;z (ii)
s

Define One - One Function. <\ L\r? N _g._g }7 g! Sy {iii)

2
If X=¢ and Y =2" then find"XUY" .ﬁ;&#gr’“’""“*" noY=Z s X=¢ Ji (w)

O\

i)

s X ={x| xis prime A 3{_;\:%1“':,\&/25}' U={x| x&€N A 3< x <25 YA
-f-fi_r:‘":—f;f@}gﬁ?}’? Y={x| xeW A a<x <17}
| 1f U={x|xENA3<ol 225} sX={x|xispimen 8< x <25 } and
Y={x|'xeW A 4<k<17} then find the value of (XNY)
ek e s ELxM I M={d,ef.g}s L={a,b,c} S
f L={a,b,c}and M={ d,e f, g} then find Two Binary Relations in L x M.
11500, 12400, 15000, 14500, 14800 -2 == 1 (Resdt¥ § igy (i
The Salaries of Five Teachers in Rupeesare given. 11500, 12400, 15000, 14500 , 14800 Find Range,
Define Arithmetic Mean. s 1 L"’_'_Q"" (vii)
Define a Frequency Distribution. & § 268 )
Prove that : {l—Sinz'B}{ 1+ tanze} =1 : Sk (i) a4 )1

-

! What is the Sexagesimal System of Measurement of Angles? Te P ¥ yLIZ4L ¥ C&J@g,ij (ii)

i Convert lginadians to Degrees. EESarsA S ot "% (iii)

( M=43 '5)+ﬂ 00K et B b b Jobtl S 6L 3.5,/ Lomip L (iv)
In a Circle of Radius 10 m, find the Distance travelled by a point moving on this circle.
If the point makes 3+ 5 Revolutions (3 *5 Revolutions = 7’||’)

Define Direct Variation, S (e v
mLA = 60° 5 mAC = 4em, mAB = 5cm G #E e mBC (& ABC &2ff (vi)
In a Triangle ABC, calculate mBC when mAB = 5cm , mf: dem and miA = 60°

Divide an Arc of any length into two equal parts, _ér':'{;gr-’.cu »f gL g Jugf (vii)
Locate the Angie-—ﬁﬂﬂ in xy - plane, AU xy £ —60° st (viii) |
Find Mean Proportional to 49 and 16. _é’r;.v wanlith i by ¥ 16 41 49 (ix)

i P.T.O. |

S S T TP Ty n_ .




LK.NO.109 E i( Partll) r.u.."?

@) Solve. = 9"~ 4 ZEL ) sA

LALS ¥ P £xP 4 (3k-T)x+5k = 0 whbs N2Epbiadf 1K (L)
(4) ....rfl'f% ¥ o« it
Find the value of "K", if sum of the roots of the equation x2+(3k-'?] x+5k =0
is % times the product of the roots. -
I
3 e X =3 + 3
Aefphadf 228 _ X230, e 0 s (D 6]

x + 3y X = 3z

@) X =

X =3y x+3z
x+3y x-3z !

Using Theorem of Componendo - Dividendo, find the value of

3
i ox o= —e
y-z
2
(4)  Resolve into Partial Fractions. x_+‘.;x+_11 -&ngﬁ Moz ()
(x+2)°(x+3)

@ vu={1,2,3, 4—-—-10} A={1,3,5,7,9} JJ'B—{I47]U'} A () 1400

(A-B) = AUB\ ”ffé_,u E

,/
f u={1,2,3,4,—,10 }, A ={1,3,5 g WB {1,4,7,10}
52

5,7

e

then verify (A-B) = él{@)

(4) -i'r:"‘\mﬁ:?ﬂu?_wghbu(bti.u)mf g uwél. ()
11500 K@gm , 15000 , 14500 , 14800

The Salaries of Flve«ﬂ'ea\:hers in Rupees are as follows:

11500 ,\1240{},15000, 14500 ,14800 Find Standard Deviation.

Sec® + 1 S5ecO + 1 .
(4). Verify the Identity. \52:8-— s = e’;‘an; -é-:—:l‘ £ L () 841
|
@) ~unZ g Uty Ui £ 60° 0 2 AazdS e (L)
Draw Circles which touches both the arms of Angle 60°. !
®) Lun WG e uIunfe o Lo N L o )y

Prove that, if two chords of a circle are congruent, then they will be

equidistant from the centre.

OR W
8 b ul .Ll.gtjf W B s ey B d S w5k e N Sk
bWy
Prove that , if a line is drawn perpendicular to a Radial Segment of a

Circle at its Outer end point, it is Tangent to the circle at that point.

—————— alat 2 S e

0= 03-)vy]

T
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gtf’_-é.-Ju c, B, A-—n’fj}?é-:‘f_ﬂ : '-'-*_,J.‘

g
J&-h-'

_U‘J/'rﬁ.-bﬁ.':ff. 's S0y (W S | XS L:u;/!;f_f:é_,d,pﬁdlrf{qﬁ}lf_
-ﬁ‘;:".hﬂul?u!ay——-”‘.}d.—lu..:( V% Pl

at qu a

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fil that circle in front of that guestio

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark n that q"“ﬁ“

ThE Snluhon Set of Equation % -16=0 is : : GJJ( 12 - 15 0 =y 1:‘;-"’
5 {+a} O {s}© {22} ® 22 (A (1)

| . Foe 7 %n1 2
!Pwduci of the Cube Roots of Unity is & e € & el @

3 D -1 (9 1 (B 0 (4

i ol +ﬁ2 is equal to :

]

e 4t od +P2: (3)

2
| Led o p @ of @ (xepP-200 0
| o B

;Find"x"ini’raportion4::::25:15 : : et xt L dix 13305 —: @
| 3 4 75 ?
! 12 =i 2 (B =2 (A
b (D) 3 (€ 3 3
i _.-..,E_"_ v
LIf %“%“k y then & "H‘_‘\%=F”kﬁ E)
V)V
i u = 7211: D) u= wzk [C)] u= vk2 (B) \u( S/wk (A)
: A N\
e AT
| 21 - f;f\\) e 21T 9
Px+1)(x-1) y (‘\,;:“;_‘J ; T (x= 11(::-1]
An Identity alls (D} An Equation <UL~ (C) A P¢£&(’%}t&hbﬂ /h.-ah (B) An Improper Fraction /._; 7 {A]
e f’ 57 - -
A Set with no element is called : o~y \ N 3 ._t__r_lf P RUIRLT U_?_’-"i e ()
Super Set <rz (D) Smgletpy*SéF).-f'vr (C) Empty Set 2t (B) Subset <rJ (A)
e << \v : _
lf ASB then AUB is equaL fo&‘ et dtAUB I A2B S (§)

dnB @ B © A @B ¢ (& |
gbe:{Mf.i{ﬁ:.h!Qu&vﬂs"X',:"’;"’E (9)

' Sum of the Deviations of the Variable ' X ' from its Mean is always :

. Different & (D) Same L=l () 1 (B) 0 (A)

- -

e

|The Spread of Observations in a Data Set is called - - ;.ruf I F el 2 ~:-‘J__<' (10)
; Range = (D) Cen!ul Tendency u,JVur.f):f (C) Dispersion &1 (B) Average s+ (A)
,If Tan® =13 then © is equal to : O=— Jx Tan® =13 ‘J' [11]

%° o) &° @ B @B I° (@

Bl e -

| i ;rbf—j-i.ulﬂ b'u..u.f)}:..bu PP Y [12}
| Line Segment joining any point of the circle to the centre is called ..,. :
Radial Segment s (D) Radius s (C) Diameter A (B) Circumference ¢ (A) i

o
{ : ;ﬂ!f Ken 32 B Lop ALe € A S ©13)
; A Line which has only one point in common with a circle is called of a Circle :
| Cosine of a Circle Cosine ¥ < 7 (B} Sine of a Circle Sine ¥ <12 (A)
_ Secant of a Circle  Secant ¢ (1 4.../& (D) Tangent of a Circle  Tangent € 7 (C)
The measure of the Extermal Angle of a Regular Hexagon is : :.¢Jﬂ A & a__;':.,-h_,-_c L v D1 (14)
] ﬁ “ ﬁ
| O F@ e 3w
lf JPL“ U‘"'&"T 7} Vol’:.-c_. JJ:'.) n f,z ‘:—HJJ}:’ () I;‘ IJ_-{_lgi-

A pair of Chords cf a circle subtending two congruent central angles is
}-._._ ?1“_;[%]_ L;,.J,-- {Dj U\rtrlippmg _ﬁf {C) Incongruent JL-‘/' {B} Congruent .fu-' (A)
i = e

N ———— e i R e el el T R R R T e T i
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Mathematics ( Subjective )

SR SIS 2 2 (6--6)E s el L4413, 2-’?‘-};"@"“)’:"" é =t }
~e-Brg g g IrSr Sonisn b 6 (WWYn-e 1 AN g S e e S

j s i
Note : It is compulsory to attempt (6—6) parts each from Q.No.2,3and 4 Attempt any [DS]queshzns fraun:[l’art
while Q.No.9 js compulsory. Write same Question No, and its Part No. as given in the question paper.

36=2x18 IMake diagram where necessary. -;fﬁﬁndnﬁuﬂ (Partl) (JJ!-"

jf{’.—’d’df_gxé M) 24

Solve by Factorization. 3.V2 =y(y-5)

Solve. X 2xa2 =0 -ZJ G
Define Reciprocal Equation. ) bl (i)
Evaluate, S 17 -ﬁpj"'—"": (iv)

e engonds 3407, 3-4Z S )
Write the Quadratic Equation having roots 3 2 ) 3-{2
et 0 ALl 3= 0 2bie 0)

Discuss the nature of roots of equation 22 . 7« + 3 = 0
RPN S atb el £ 75°,225° i

Express the 750, 225° as a ratio a tb and as a fraction in its Simplest (lowest ) form.

Find a Third Proportional to : Pz' qz ; P-q .ni’g\\ ..:.‘"f_;.r}*" L2 (vili)
Prq’  p-pa+ ‘lzr)\h =4

Find a Fourth Proportional to : 5,8,15 “'\“5:':.‘3 ‘\I {:\ i 5{:"" R )

Resolve into Partial Fractions, —"E‘L'?r\\) -ég.klf Uz () 34

= R0

. . . A\
Define a Rational Fraction. B L,l’r‘@>\f

G Euf d S i)

ek xOWk y={2,459}0x={1,47,9}fa

f x={1,4,7,9} and Y = { : 4";"‘3?} then find X U Y.
_irﬁxj!? vhlsY xX 3 Y={de} s x={a,b,c} S @

If X = [ .a_,b_.c} and Y&\‘gﬁ‘ﬁ,é } then find the number of elements in ¥ x X.

Define a Subset and give one example, -.i:f.‘:tf.'dkﬁ- Ll é_gf L{' ._»,_:-5; W)
Define an Onto Function. s § St i

Find Arithmetic Mean by Direct Method for the following set of Data. ér}"'hfdb ¥ 33 bbb (vii)
12,14,17,20,24,29,35,45

i e e  —

Define Class Limits. ZEP § pela i
! Write the name of two measures of Central Tendency. _.._Ltert!_'_ UJ’_K » L ul?-J:.FP} (ix)
Define Inverse Variation, 2z sy 5.l @ 4 )

X =3 '-‘ééf#@fbr"y";y =4 ax =127 J]]’IJF‘ELK }_2 ! x./’ll (i)

2 ) .
If x and y~ waries directly and x = 27 when y = 4 find the value of "y"when x = 3

What is Sexagesimal System of Measurement of Angles? '"ﬁ.—l:r ARV (2 ' JJE',JU.!:U (iii)

How many minutes are in Two Right Angles? St ‘_;5"‘ & S UDILEG 5 (iv)
A .
Convert —5~ into Degree. _éfg QJF e dfj s '?T-H (v)
Divide an Arc of any length into two equal parts. -é{’.—w;\‘:uf’_ﬂ_g nf Ui s JL-‘U" (vi)
' Define Radian Measure of Angle, :£._y,~'1 vyt d" i
el vl Bl (vii)

_;_sr{r}meB Me=Bem Ab=15¢m, a = 17¢m S ABC &b i}
In a Triangle ABC, a = 17cm,b = 15cm and ¢ = 18em , find m&B. =
P tf by Ve s f £ Leecha pliia LG (i
The Length of the Side of Regular Pentagon is 5c¢m, what is jtg Perimeter 7 i

Al LT T T T
®

b —— “mas - _— H .0
’ i ——— H i I
- - w—— : " . 2
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_ LK.NO. 110 | .: Part Il ) f.s" |

Tt
-

-
e - -
- -
e

A
llr.

2 2 N s y o 2 )
B -ux X, BTSNk ehle PN = roml

o= il O(, P A ‘uf}

. ) . > S w (), then form
If oK, B are the roots of the equation A7 =0+ 0 '

3 3
cquation whose roats are O P'

[F - av , | A Ao
J'| :EF"J-":_,; N ) . A S ¥ s J li.‘“ l._,-"‘T L";,,__,J,-'E— () o~ e
= [ -
N+ 3y \ =3z
dyz
M N =
2 ! =17

-

Using Thearem of Componendo Dividendo

=3y + 3z - v
find the value of —— - B ~ L s
N+ Sy N =37 )
1 =]
) Resolve into Partial Fractions. r\:;i' e o ()
[\-1} [+ 1) ‘\_:';'1
- 4
B=1{2.3,57},A={1,3,579},U= {L.«a,\‘”g 6,7.8,9,10} ST () 740
J
Cl (ANB) =Fz:'ft\f Sk

Q%
={1,2,3,4,5,6,7,8,9,10} ,Jg}\?{‘f,.._ 7,0),8=1{2,3,57}
then verify {lnﬁj\-ﬁ A un’

Kﬁ-.\\\"/ )
(4) Find Standard Deviahqu'ys _,'_-:_f_.l",b' S A ()
QY 19¢3,8,8,9,8;9,18
(4) Prove that : . f :.-._*:-.:;b () 8,20l

(Cot®@ + Cosec® )(tan® - SinB ) = See® — CosO
) -# (5 duyg L B b s ¥ ABC &L idils (L)
Inscribe a Circle in an Equilateral Triangle ABC with ecach side of
length 5 cm.
(8) -t sle (R ¢ u‘.rrgh L st Sl 5 Ll e JJ( S i-:fl' 9,2y
Prove that any two angles in the same segment of a circle are equal.
OR W
(8) Ltk 5 £ i JEeF o Sl b iy oisb i o s
Prove that if two Ares of a Circle (or of Congruent Cireles)are congruent ,

then the corresponding Chords are equal.

T Y (o S

e S - - ol



| Sum of the Deviations of the Variable X from its mean is always —== |

Lu:l —— L,tud‘r w S Urh n oS J_JI.«J.«J:I JL-P‘ ni (14)
{|A pair of Chords of a Circle subtending two Congruent Central Angles is -—=— :

Mathematics |I D L.K.No. 113 Hpaéir Coda No. 7187 || Ll )
Srout ¥4

Paper Il (Objective) SSC - A - 2020 mp First | CAS) N :
Time Allowed : 20 Minutes SSC( Part-M) L2420 =
Maximum Marks : 15 Session ( 2015 -17 ) to (2018 - 20) s AF

@ Bwp. /o - q/.-

LA BN S a0 30 uu-L.,..vwm.-..L,tguu..af.'ﬁ,m.u-édrmﬂ;rdw,weif_: D,C,B, A=l lJirs 1 gl
4&11"”5,49-1{1&-_-»1;4.)‘4};-(“_;4 § itelie Ll
Note : Four possible choices #,B,C,D to sach question are given. Which cholce Is correct , fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question,

; The Quadratic Formula is : D g U faw 14
|

J| -bi\jbz-l-iac (D) bidh + dac © -ht\lbi.iac (B) bt\[bz-hc (A) (1)

i 2a Za 2a 23

%If UaL,VZ,then ; ; ; Up&.sz (2)
wre1 @ wlek @ veR @ veVioW
[Pmduct nl‘ Cube Roots of Unity is ¢ z q....-/'d"i: ¥ .."ﬁb.n; ﬁ JI’! {3)

§| _c.:fxo(p?uﬂ[_,&..ld:?x-:+4=ﬂ =l ﬂ(..P.; ‘4)

If of, p are the roots of the equation 7x2- x+4=0,then & s

a c a a-b c=-d

a+b.c+d_[r_}] a- =E-d g\}\hﬁ"’ (B} b ’T{M i

. e ’Ff’ O B B A W
If Ac‘_B thenAnB isequa.l to : A\\@ oebt 4l AN B Agnfl (7)

I LE )j 7 S R —
(x+ 3 = xE+6x+9 i a & L dix+3)fexeersl ®

 Negative d" (D) Same w.f © 0 (B 1 (A

A Chnrd passing thruugh the Cenh'e of a Circle 15 calted . : {_I:Llsf nvii < Jr £ e | (10)
Secant d'.l'.l-ﬁ (D) Circumference ¥ (C) Diameter A (B) Radius Vs (A)
ﬁ Lme Inteuemng a Circle is called : : ;l‘l.hf 13 rfd“ f Py (’11}

Dlameter )" (D) Secant (‘fﬂi “:!._ Churd A (B] Tangent ._)'U' {A)

observations is called i

_ Harmomc Mean Jr:l....éﬁ’ [D] Mode uh lC] Median ,,:'.ln--: [B} Geometric Mean leuuqJ.il [A}

to each other :

Parallel $J1# (D) Non-Parallel w,—;; (C) Collinear _ 457 (B) Perpendicular laf (A)

Tangents drawn at the ends of Diameter of a circle are

-

I’Erpendicu]ar lJf (D) Parallel Y Q) lpﬁung'rugp!; ) Jl.r‘f' (B) Congruent Ji (A)

i -1 4
_—  dwmieo5® 7 W
e %=§ . then Componendo Foaityiti \_:1 ,:.f.__,..u 5 mmes S| 6

[If A and B are ¢ Disjoint Sets, then AUB is equal "%.L_;; e tn c AUB Jun xS Ba AN (6)

An Equaﬁnnw =bis (B) A Linear Equation aheGot (A)
 An Exponential Equation _=hi-Jliad (D) An ldentity v ©
c:..t:r A I p;ldu&._,rr ¢ x 2~ L,...s‘ (9)

q..t‘lhf MidL’Uﬁ‘ ¥ JJ“ 4’:- CURT xz,x3,-—-— Xy {12)
II'The value obtained by Reciprocating the Mean of the Recipmcnl of Xy, %y, %3,/ X

BLn—— AT U LE oy LF L] (3)

i

1 - tan B’ {D] 1+ tan 9 (C] 1+ Cus 9 (B} 1 511129 {A)

i Lc: I
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e L e SIS fe ALz (6--8)L s ek 4 41 3,2 AN ue { =l P
....g.&,.-}.;.g{.‘ﬂr’.ﬁk{f E-,.u/'.i:.'f'!';s{;:‘;ghr ) {Qb’qm_q.dw Bﬁjdir.ﬁ.qf(ﬁ; Uir(;fc;,df

Note : It is compulsory to attempt(6--6) parts each from (Q.No.2,3and 4. Attempt any (03) questions from Part 11
while Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the question paper.

36=1x1§ |Make diagram where necessary. _Lfﬁhfyﬂngbjﬂuiﬁ (Partt) ‘J,Lp gwﬂ,’- 4[‘_'

- T

Solve by factorization. x2 -x-20 =0 ...éd’ d;f’,.zu.'g () 2/'.‘Uf!‘:
P LYBILL Y £ 2B v i
Write the names of the methods for solving a Quadratic Equation. l
Solve. {ax+18 = x - i)
6. 8x + 3 =0 ek G 2B das (v

Find the Discriminant of the given Quadratic Equation. ﬁx?'- Bx +3 =10

Prove that : 13+ ya = {x+y}{x+wy}{x+w2}'j H fén:-r.b (v)
Write the Quadratic Equation having Roots 1,5 «gj AT ST dfjuju 1,5 (vi)
Define Proportion. ok i
Find a Mean Proportional to 16 and 49. P sl Ay ¥ 49 1 16 i)
AN)
e ow s yerwe2a wek X S (0
A

_ RiPs v
| 1f well and w=2 when v =3then find wo ~0\©
irz , (%\\:\2—)\:
PN ;
Define Improper Fraction and give one example, (\.\;/L\E?/J -::,"-Jdv'\-_ﬁ s é‘h.&'/‘" J /'r"-'"/!, ) 3 A

[ 3
Resolve into Partial Fractions. -. Q.Li::_ 1)(x+2) _zél}:i L u"d:&! {ii)
AN
Define One - One Function, f%\fﬂ\’ -ﬂ‘:'..é‘/? L{ JU s - s G

\.@g“'} yox 7 y=1{4,8,12,—2} o x = {2,4,6,—20} S v
| 1 x = {2,4,6,~20} and<y = {4, 8512, — 28] “Hhen finduy & x,
| 1 A={1,2,3}and B={2,5} thed find AxB. 2 AxB I B={2,5) s A ={1,2,3} 1 v
e e M x LI M={3,4) »L={a,b,c} S
If L={a,b,c} and M = {3,4}) then find two Binary Relations of Mx L
Define Arithmetic Mean. “ZE7 § el win
203,2+7,2:5,2+7,2+9,3+1,1+9 -ar.i},lv,:u,:.qufj:ptuﬂﬁﬂmfm_giﬁ 6L e il (viii)

The sugar contents for a Random Sample of 6 packs of juices of a certain brand are found to be

SRR RS——

2+3,2¢7,2+5,2+7,2+9,3+1 and 19 Miligram.Find Median.
4,4:5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6+5,7 & nb asrslea | lrbler 2§ v Vb (%)

Find the Modal Size of shoe for the given Data : 4,4-5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6+5,7 !
Prove that : {tan® + Cot® ) tan® = Sec29 S ZL:-_! (i) 4,1:UJr
Find " r* when | = 52cm , © = 45° =52 ¢ ©=45" Sigked ' v i)
Define Projection. -E:-.é'; J L Lj‘}' (i)
Define Minor Arc of a Circle. Sy G 8 e v
Define Tangent of a Circle. ..é._g,;[f i L e )
Define Segment of a Circle. _i‘.jj/; g # L
Define Circum Angle, -é&-&b; J 2114 (vil)
Define Circumscribed Circle. L ey i)
Practically find the centre of an Arc ABC. g o Y L HEABCUT (o

I gy oo T e E e Ero e
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(4) Solve the equation. x.13x2 +36 = 0 S el (U 5y

@) el L oA Ut £ P £ ax+ 3Px +P2 = ﬂ et S 2 e’:’rﬂ"JJ’ P (o)

#iin el U R THTP

Find "P" if the sum of the squares of the roots of equatiun 4x2+3Px + Pz =0 |
is unity.

2 2 I ]
(4) s D) cgxed ;;_ ehlotnl Sresd b Lok () 640

(x + 32+ (x-5)

Using Componendo - Dividendo theorem solve the equation
2 2 :
(x +3)"-(x-5)" 4

(x + 3 +(x-5)

i ) ) 7x + 4
(4) Resolve into Partial Fractions. '-—-L*'-'—-'-—*-z _.Qf._}:b, Py ()
(3x+ 2)(x + 1)

u={1,2,3,4,-—,10 } y A={1,3,5,7,9} s B= {14 7,10} S (0 140

@ Zebend (AN n@ SR E

¥ u={1,2,3,4,—,10 }, A= {135 \}3\,3 {1,4,7,10}
then verify the (AN B)\ L U B

@ (E&’ s Lits i/ e Sl uF g ()

The Marks of Six Studentﬂ,gﬁdathematm are as follows, Determine Variance,

e zSn@hﬁmo 1ot 2olme--l ZS' 5] 6

/e / Marks 60| 70 | 30| 90| 80 | a2

) e L SEdpE Ol n LT e\ SIE O i Cos0 =5 L (L) 84
If CosO= -—i and Terminal Arm of the Angle © is in Quadrant II , find

the values of remaining Trigonometric Functions.

) Ll AL e UK P S ()
In the Circle of Radius 4cm, draw a Square.
(8) Lun gl /;' oy u:nﬁ?.iv wlemhs i:.c# 9,4 iy

Prove that if two Chords of a Circle are Congruent then they will be

equidistant from the Centre.
OR W
LU 1o B S 2 g s) S ZE ek

Prove that Any two angles in the same segment of a circle are equal

= ~=3e T




Mathematics Mo ]| L.K.No. 114 -per Code No. 7498
Paper Il (Objective) ' SSC - A - 2020 [Group 2n j GAS)
Time Allowed 20 Minutes 8SC (Part-1l) <2 20

15

15 Session ( 2015 -17 ) to (2018 - 20)

© BwA go-G1-10

Maximum Marks

sl

%4

=

A

A I IS IE Nt e S s D g QYR s D,C B A2 Ly ¢ g
| -fx;rjhﬂwlflﬂuﬁuJJ‘Jh/warbd-&f Uf.":uh;:-uf |
I Note : Four possible cham: A,B,C,D to each question are given, Which choice is correct , fill that circle Infront of that question !

number. Use marker or pento fill the circles. Cutting or filling two or more clrcles will result in zero mark In that question. !
I

Two Linear Factors of x* -18x + 56 are Dl .:_,-GJ sk wL x> -15x + 56 1 /-f,_,'p,;

__[_X?}[!_Hl (D) (x+7),(x-8) (O (x+7).(x+8) (B) (x+8).(x-7) (A) L _{1_}

The fourth Proportional w of x:y:iiv:w is : te worbBR L xry it viwl (2)

H 'U‘Y X i

= D 35 © xy=v (B) — (A) ]

Roots of the equation 4x2-4x+ 1=0 are ot UJH £ .h -dx+1 = 'IJ \.-'FJL"' (3) 1'

Imational "t (D) Imaginary d"/ (C) Unegual, Real & ¢ 4zt (B) Equal , Real ..r" < 4t (A) ’

_c,'...z!.:n(-rp?um.)u{: 3:: +5x -2 = 0 =bl of, p /r 4)
!
i If o, B are the roots of the equation 3x +5x-2=0,then o+ P s i
| 2 o B e S s |
| 3 @305 0 W_,,\ |

|J If Yzaﬁ_-l— then C'T.' 7y oL )

. 3 3 i
! X 2 =B 2 x;\,ﬁ
| Pard ) ¥ tcmr=—“\@>k ;

i he number af Elements in iner Sel of { 1,2,3 'Iﬁ‘\:;] c..d.ﬂ s d’ ulﬁl Lol & { 1 2 3 ] (6)
| Lo g
! Q JMR = {(1,3),(2,2),(3.1)(8.4)} A () |
|| The Range of R = {(1,3),(2,2), (%@@ 1)} s
| ALspce} t tg\ 3 %g D) Wi ®) (124} @) o L

- x+2
-I[’ar‘tia.[ Fractions of 2 $ are of the form — i ! LE&KL;? N ] ] {8)
{i (x+1)(x"+2) (x+1)(x +2)
1
Ax+ B C A Bx A B A Bx+ C

i + G A
i X"'l xz+2 ':D} x_|_.l x2+2 (} x+1+:‘2+2 ‘B} K+1+ 2+2 ':j |
1 I
t q...hd-r'/ p. V7 H.uﬂ uﬁ u.r“'ﬂx s { e 2 =kt (9)
| The observations that divide a Data Set into four equal parts are called :
| Median by (D) Percentiles .o (C) Quartiles oflly (B) Deciles 20 (&) | |
| .f..tl.lf un:.l-'l:.szc"_ iﬂfﬁﬁ(bﬁ'l‘ﬂﬁb{’“’ (10) '
‘Locus of a point in a plane equidistant from a fixed point is called -1
: _ Diameter yd (D) Circumference k% (C) Circle o7 (B) Radius v (A) ;
1 : ?.dﬂer&ubJéc_AJJUJﬂif_ﬁJ (11) [
The length of the Diameter of a Circle is how many times the radius of the circle i

| e X B & 2, OL e

_Mean is affected h_',r change in b Js1 2 c.L.fJ..r —-krsIL}L? (12)
! - ~ Place ..;_{_D] Ongm _»Lfﬁ‘ (C) Ratio ..--’ (B) Value .,-_:.'; Ay ,_:

a4 Alemlss gl (13) |

A line which has two points in common with a circle is called '

Cosine of a Circle Cosine § <7 (B) Sine of a Circle Sine ¥ « 7y (A)
| Secant of a Circle Secant b’ 4_zl1 (D) Tangent of a Circle Tangent ¥ «b (C) i ].
'-i L!uf O B ) LL—£ Uyl u'fff e e L):L.jb -..f' (14) I
iThe Arcs opposite to incongruent central angles of a circle are always : . }
| Perpendicular lvf (D) Parallel (/¥ (C) Congruent Hlie (B) Incongruen! J’“‘f’{ﬁi

i Fgs § Sin® i 1 ol : =Wl
| 5ec®Co § CosO (D) sin® (C) Tosd fﬁ} SinG (A) : Sec® Cot® J (15) ]




(2015-2017) to 201820) % / JfnS | SS.C(Part-11) | 114 -}oasg A
Mathematics ( Subjective ) 60 : ¥ &2 1105 |SSC-A-2020 (gt‘il)d" b

e B G fein Lz (88) s et 4013, 2 ArFlie § = ls P
IR PIYEIR ALWILC Lz A {Q¥IRe il sﬂ.,lur.é_u,{}'_. Wrfe s

Note : It is compulsory to attempt (6—6) parts each from Q.No.2,3and 4, Attempt any (03) questions from Part Il
while Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the question paper.

36=2x18 Make diagram where necessary. -szhd‘fﬂdnfadh{ ( Part | ) LJ-’L""E guﬂ," ig"'z
: _— e |

r - o

Solve by factorization. 5:1:2 = 15x -ﬂd" d‘fg’;é (i I,f;}JIri}
Solve by factorization. . x-20 =0 -éLJ" Y. ;f-_gxi_. (i) E
Solve the given equation by Quadratic Formula, 5x°+8x+1 = 0 -2 e ss Ui » & abie dnds (il ;
G- 8x + 320  Z 3K 2 En o dnd (v) g
Find the Discriminant of the given Quadratic Equation. 6:2- Bx +3 =20 !
b Evaluate. (1 - 3w - 3w?)° Eead v |
ot x-11 = 0 -éi‘}"‘ﬂf ¥ JL ALL L ciaign » i)
Without solving the Quadratic Equation find the Sum of Roots. x>+ 7x - 11 = 0
Find " x " in Proportion. 3"7' 1. -%-: : —2,: :—g- gEepiad § et e ()
i Find the third proportional of : o . 312 @Q‘\%ﬂ _é_‘rﬂﬂ’.‘,t} 2 (vil)
Define Proportion and give its example, =\ LEJSU w i o )
Define Identity. \f{-?’j(\\? 41:--9/"’ J L o) 3 r
How can we make Partial Fractions of ™ +1)[! = r\{»{ﬁ>\ﬂ/wu‘&lrtjhbﬂ/ 62§ ——— (x "‘2)( 7 3) (i) |
Define Ordered Pairs. ,\\ < 2 Lo G |

-£ ,..96}(11"1‘}2Y=[2459}.u!)(=[14?9}f[lv] i
If X={1,4,7,9} and v\-};{}z 4,5 9} then find XN Y,
If A={a,b}and B={c,d} then find BxA . _Zp* BxA i B={c,d}mA={ab} S

i

Define an Onto Function. 7 g (fﬁ ) ST i) |
Define Mode. 2 ol i
Find the Geometric Mean of the observations 2 4,8, -I-f_f()" L'J'LLI_II' g 2,4,8 &ls (vii)

gt = (11500, 12400 , 15000 , 14500, 14800 (ix)
Find the Range of 11500,12400 15000 14500 , 14800
Cnnvert'—;—a- into Degree. _;:{J_,.,:U:dﬁ f '%?-"- ) 4/,2Jlr'

g J.ofl_._f JLJ N7 -ﬁ:..;]h K HD{ Ip e gie e 12y ¥ U e (i)

In a Circle of Radius 12 cm, how long an Arc subtends a Central Angle of 84° 7

! Define Zero Dimension. S e
Define Circum Circle. Zs S vy
! Define Tangent. S uv m
Define Sector of a Circle. -.i-lfn..é‘f J f'g L o7 (vi)
Define Tangent of a Circle. A v Lo i t
Divide an Arcof any length into fourequal parts. -é,‘-j U Ur el S uid Guuf (vil)

Define a Regular Polygon. ZEu/ J L 'Y (ix)

T
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(4) 2% . 5x -3 =20 -é(f dfd’-":-_u.} i ..:«L-l-‘d{f: (- 5/-,"1 Iy
Solve the given equation by Completing Square 3,2 _ 5, ._ 3 = 0 .
2 2
+ 2y = 22
(4) Solve the Simultaneous Equations. * y -z’,é])' Lo s ()
x>+ y2 = 29
i
) S et (a,b,c,dd0)aib=cid S () e
|
|
3 3 j
Bia® o AT B L8 i
a+b'a+b C+d'c+d i
|
|
!
j

“)

(4)

(4)

(4)

@)

(8

If a:b=c:d(a,b,c,d+ 0), then show that

3 3
a +b2 2 = c2 + d2 .
a+b c+d
47X+ 1 |
Resolve into Partial Fractions. T _Q,ﬂ"{; »or (L) '
(x+2) (x+ 3 _;
u=9{1,2,3,4,,10 } , A={1,3,5,7,9 } m\_@\u fi 4,7,10} /(Jl)?;*dlm
-4_,&._.0“6(@/:»11 gY=Ans 7
/'
If U={1,2,3,4,,10 } , A= {1\;@ 79}, B={1,4,7,10}

then verify the (A ﬁﬂ’: Aq 8

4@{}5’ n_’ff’l‘d;lw'..u"JJLw S e irJLUIb g ()

=~
The Marks of Six Studéé":\’:;: Mathematics are as follows. Determine Standard
Deviation.
AU e sStudents No. [ 1 |2 (3 | 4 |5 |6
/e 7 Marks 60 70 |30 90 |80 |42 |

- o - ‘ -
pbied go § JEJpF0L i sme < o une =5 Ji () 8y
If tane-"ﬁ“ and Sin®<0 , find the values of other Trigonometric
3 &

Functions at ©.
ot a8 § Erlu Bk a8 § ABC ABLBIG- (o)
Circumscribe a Circle about an Equilateral Triangle ABC with each side of
length 4 cm.
LS un Wb & Fp 2 Looih S der 9w
Prove that two Chords of a Circle which are equidistant from the centre are

congruent.
OR W
i) ¥ Lo i g S ISy Whé e sfisd o H TP g A
..q.tnl'rGJ
Prove that the measure of a Central Angle of a Minor Arc of a circle is
double that of the angle subtended by the corresponding major arc.
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Mathematics E A n L.K.No. 113 . U g
Paper Il (Objective) SSC - A - 2018 |j G N e .
Time Allowed : 20 Minutes SSC ( Part- 11 ) Sl i s 20 =
Maximum Marks : 15 Session (2014 -16 ) to (2017 - 19) 15 AF
£ v .
e B SIS AL R EIE st L S IR L5 0,C B A 2B Ly 1 g 'i
..ﬁr;rjjﬂ.,-{h.u&gﬁ.unﬂf.d_f.;f—ﬂd.f.gfuuhuy:-_ﬁ
Nots : Four possible choices A, B,C, D to each question are given.Which choice is corect , fill that circle in front of thet question
number. Uumurpmmmmemmcmwmmﬁurmmmunmwmmmmmmmm
I : o un',.f n :Q.h.,w;.a._fﬁ.u L8 sobe o8| 1407 |
| An equation which remains unchanged when " x " is replaced by — L caﬂed : (1) ' E
f Reciprocal Equation N {B] Exponential Equnion etiedied (A) i i1
Quadratic Ethcm =l fD] Radical Equation ez () IR
| wu’» u+bx+c- Hhv?x-d/m}r;ﬂb-kcb{}ﬁ (2) !
jlfb-&ubﬂbutnolaperfmsqnm thenmouufuz+bx+c-0are : ’
| fqual , Real (¥ <4k (D) Imational Ptd (C) Rational  Jt(B) Not Real %7 (a) N |
[Cube Roots of * -1 are * : . :u,_,,;zﬂ e
LW @ lew W @ cdoweow @) ctowow @ I
If -g- % , then Componendo Property is ! S I ¥ %-% f; (4) ! -
| i i
a d -d i i
! a+b-¢:d{m aTE-cfd l‘cl"%? [B}_:\ ._J,."cd (A) .- f
| " S o i '-
1f 22l «x , then {«j—’) B wmp ) B 3
| v 5 wa; 2 v W ! l
| u=v’K O u=wk (© u=w® @rlwswd (4 |
s C’ e - !
| Partial Fractions of —————— - . - are of the I’omgﬁjg u'dm}’(: w57 J I 6
| (x +1)(x° +2} x +1)(x2 +2) ! K
! \ ! i
i A Bx {= Bx+C ) A __B (A) | .
x+1+?+2 !*‘1 xz g'\{& 3“'1 ‘2 +2 x + 1 x‘2+2 | :E
| The different number of ways to des A set are : e s uﬂ/‘..i"éz_fuh e o ..f I {7) 1
s SV o o e 1w | E
! The relation {(1,2),(2, .nﬁw:n (3,41} 15 : berBdine §(1,2).(2,3).(3.3),(3,4)) | (8) ¥
Into Function Syt (B) Onto Function JEAT (A) ' . E
A VA Dne One Fum:tion _ .:...Jhu: - (D) l"\l:tt__a‘_f-‘_l._mcﬁun & _g_;ﬂ{,h' (C) ' : E
iA Data in the fnrl:n of I-requancy Distribution is called - : ‘;.ruf .n!r‘ t;fd' (-‘E | {9] i E
{| Froquency Polygon {x0,25ss (D) Histogram 23S¥ (C) Ungrouped Data Jirss./# (8) Grouped Data simss/” (A) |
i B
| |
K3 f ML O e = 30 () 150° (© B (®) WS (A) e w gt 2R 0)
[ 1 {D) 0 [C) tafe fB] -1 (A) i _"Cnaecze- Cot?® = —m “(llfl i
e —uglSasanit LHLl o (12) | i
‘The right bisector of the chord of a circle always passes through the — :
-__._____I?.‘_‘_’f“!_‘ff,_, A (D) Centre /} (C) Circumference bS (B) Radius Vi (A) | : I
i' : q.a’éf Ut 46 5 ilnf;r._.rh L’.JH ..f (13) l
SA line which has only two points in common with a circle is called : f
Cosine of a Circle Cosine ¥ <7l (B) Tangent of a Circle Tangent ¥ /i, (A)
| Secant of a Circle Secant ¥ d...vl': (D) Sine of a Circle Sine ¥ /b (C) i
|
|

‘The Arcs opposite to incongruent central angles of a circle are always - ; |
L Perpendicular s (D) Parallel JJIP‘”_E_(;] Incongruent JL?'/-f (B) Congruent fl.?" (A)

|

Angle Inscribed in a Semi Circle is : _ L gtn i £ o Ihid | (15) |
N JaY IaY i {
e 5 T e L

ﬁﬁyﬁ* ______ LSS I

-



(2014-2016) to (2017-19) % / 2ojis/ | SS.C(Part-1) | 113 2 /2 s
Mathematics ( Subjective ) 60 : A Z1 1025 |ssC-A2019] (L8
Lo g SIS fe 2Pl (6-8)Ldwn ek 4 13,2 AwiFlie & 2l P

g-busg g Bl szt §s (36328 9 by S e ine §f

Note ; It is compulsary to attempt (6—6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part I
while Q.No.9 is compulsory. Write same Question No.and its Part No. as given in the question paper.

P xS L8 x 18 ()

D)

Find the value of " x " in the continued proportion 8,x ,18 @\ =2
Define Inverse Variation. };\C’ -uff--!'/; J J-""i (ix)

22

Define Rational Fraction. ' N> -éf:.yj’ § A2 6 3}:{]!;':

A g ,:

Definc a Subset and give one example. />\,5*-7 ...ff' WLl %&; g ..'.J_-'o’ (i)

o
L/ B-A # A-B \Tj- {1,3,5,7,9},8 = {1,4,7,10} S

?
36=2x18 [Make diagram where necessary. -J’hﬁpﬂdﬂ)g (Part!) J,]‘pi
2 - .

Solve. vd¥al LAY 0 A

. (2-3) =2 A |

Define Exponential Equation. LF? § enmadusd .
1

Evaluate. (2 + 2w~ 2w2 W3 = 3w+ 3w2] -q.{ﬂ‘.!"“«:-f (i) l'
Write Quadratic Equation having roots 0, -3. _L):""Ir RN TR T dbu%.u 0,-3 (iv) E
gl dd fq._E.Funu’!-:{: x2+px+ql0 =labe p,o(‘;!' ) :

P e |

If o€, p are the roots of the equation uz+px¢q-ﬂ,lhenevduate-§-¢+%€ E
i
Evaluate w o +w 37 ..;,g./?.r"".:-..af (vi) :
Find a Third Proportionai to : P, 3a° L L (il !
i
|
]

9

¥ A= {1,3,57,9}, B = {fh@jﬁ then find A~ B and B - A.

Find a and b if ! r‘(.\iﬁ;ﬁﬁflh.b-n- (a=7,2b+5) p 7 AT E
Weite all the Subsets of the Sét {/al ¥3. 2 F 0l fa v} er

Define Arithmatic Mean. -7 § e o

Find Geometric Mean of the Observations 2,4,8. ..zﬁ:ﬂ-' s & 2,4,8 ol i)
Define Harmonic Mean. -@i@/‘ S H‘-ﬂfﬁ (vil))
Define Measure of Dispersion. -5;2/‘7 g A (ix) |
Express 225 Angle into Radian. L2t f 25° ) 4w
Find ® when I=2em, r=3.5cm I-Zr’,r-J-S(' _?@?J"’G(i[}

Define Obtuse Angle. LI § o 22 Gl !
Sl J 6 I R Ui ¥ 0 St 4:_.:[/{;..,.7;}: 2 /13 (iv) !

i

I

i
- L ST L TS S L ST S T T T o i M S i, ' g . oy - S R e |

Define Area of Circle. What is the area of Circle when R is the Radius of Circle?

What is meant by Length of a Tangent? E.;.:I/gc. JHJJW L ity (v)
Define Circumference of a Circle, LAwF S ar Lot (v
Define Circumangle. SIS Y i)
Define Inscribed Circle. Ll § o OB f
Define Polygon. -e,{_m'! Lk 2 (ix)
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(4) Solve by Factorization. R4 SR S 1 IS $Epan () 540
X x+1 12
(4) ek O 2x+48= 0 b2 i 4:"(-7&’}4;,} (&)

Solve by using Synthetic Division if " 2 " is the root of the equation

XO- 28x + 48 = 0

" V7 g G CEL I WO B e

Nx + 3 -yx-3

Using Theorem of Componendo - Dividendo solve the equation

yx+3 +[x=3 4
X +3 - {x=-3 3
x+7

(4) Resolve into Partial Fractions.

{m] -L[/(LE? LUz ()
X

i

u={1,2,3,4,5,6,7,8,9,10 } , A={1,3,5,7,9} B ={2,3,57} /i (D 7,_*'Urri

- r 7 AFJ,AD f
(4 (ANB) = AUB @ =t I

If U ={1,2,3 ,4,5,6,7,8,9,10 } y A ={ '33135:\?{:-19 ' 3 B = {2,3,5,?}

- oA Th
then prove that (AN B) =%)

P
e .
@) 12@3{@{4«.&:6» S G Lo ey ()
r“‘:\ <
The Marks of Six Studentg\t wsthcmatics are as follows. Determine Variance.
Ui s No.
JJU./SNWO 12 | 3 |<¢%,5] 6
it/ Ve / Marks 60| 70 | 30 | 90 | 80 | 42

|
(4) Verify that (tan® + Cot® )(Cos® + SinO) = Sec® + Cosec® J qf:'zﬁ () a,-?drrg
@ Loty K NGt £ 50 4 £ AEHSLIIE B P2 L (L) |

Inscribe a circle with regard to a right angle triangle with sides 3cm, 4 cm

and S5cm.
(8) ' -.-:-...t‘fJfJu‘l TPy Lf’;.}ffﬁr_ﬁb o 4:‘.’,* 921w
Prove that Perpendicular from the Centre of a Circle on a Chord bisects it.

OR W
_{,E-Lnxl.gﬁl;u:tglsw Wy B S Ll 2 et S $(..:¢l.'

Prove that Any two angles in the same segment of a circle are equal. !

i o te Fr et e
U= 1 - e/9
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paper Il (Objective) SSC - A - 2019 GO N 3¢
Time Allowed : 20 Minutes SSC ( Part- Il ) - e 20 =5
Maximum Marks : 15 Session (2014 -16 ) to (2017 - 19) 15 AF

i LA B IANZ /u.ﬂi"dDL..,-Mﬂmﬁg}:}bﬂ{.ﬁb&dlﬂg{dﬁ}&.;ﬂé{.: D,C,B,AciRlplJry 1 g
P _ized3 L S SN L S s inskia

i Note : Four possible choices A,B,C,D to each question are given. Which choice Is comrect, ,fill that circle Infront of that question

i number, Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark In that question,

' The number of methods to solve a Quadratic Equation are : - ggl.)‘&fﬂi..fd' { euda v 5 lxzjdlri
L ¢ ©® 3 ©2® 1 & 00 M
: I'hu [hstrimlnmt o!' tha cquaﬁun axz - bx +c=0 m IR u’-"/i.)} I’ uz + bx +¢c= 0 bl (2)

~b?-4ac (D) -b +dac (Q b’ + 4ac  (B) b’ - dac (A)

{--m_ .f;_.xd’uﬁax +bx+c={}_al:l.-'2nb-iac<0

(i 1f b - dac < 0 , then the Roots of equation ax?+bx+c =0 are : i

| Disciminan 0} ©) tmagnary EZ (O Ratonal Pt 9) lstonsl i 4)
,'.ln a Raho a:b " a" is called : : ;.rllrf *La:b = | (4)
i'_ ~ None of these gﬁw’_ (D) __Eonsequent dd/n (C) Antecedent |I L&’ (B) Relation gg (A) F o
! A third propeitional of :2 and y2 is : P WV wd| B

i L o ;’é— © & ® S 2 (a) : |
e e e ._-..__,\i'x\@—/ e ﬁ,ﬁ =l
%[T:-”{!—_lrisa—-—ﬁactmn: /;3(\\}:”-,_:%/ _m (6) |
i An Equation =il (B) Wper Fraction A=zt (A) | J
f Discriminant 150/ 1@ per Fraction A2 (€) |
E If AZB then A-B is cqual to i\ &0( e A-B mAZB /(@) |
i . .. /% A S D@ A W& _—
f,\i@} ¢f-"'-'~"¢-’q-{ la béz!\bqiﬂ}l 8

{ A set Q= {#]a. b€ zZALF 0 } iscalled a Set of :

Ralimd Numbers ,wJ*t (D) Irrﬂlonal Humbm :Lufd:} IC] Hnu.lnl Numbm Mdz.d [Bl Whole Numbers JLIU;[A} |

A Cumuhtlve Frequency Table is also ulled : q .—_I.'llf u"' _dew.;!yf i 9)
Rectangle J-""' "(D) Lews than t_:ﬂTgliuve Frequency Distribution f":;mdrf/r" (C) Data ir* (8) Frequency Mhununf’w{p.]
1-wun’® (D) 1+Cos@ (O 1+ tmze ® - szﬂ " 8o B e "M({.J,"m
= (‘.onvcrﬂon of 135° into Radian is : g‘{tg}, f 135 _,,;.. [li; .
. 7 5% 3 i
| T o Fgfw —;’5 () i

et u;r,; Eidc e B 2. o ¥ ;WFME;Ezf 1
anus of a point in a plane equidistant from a fixed point is called ——r :

Diameter )’ (D) Circumference b# (C) Circle /1 (B) Radius Vi (A) Il

{..t‘l.lr" n S B ...u‘d’lr-d: P i’u’].i ..f! (13]
(A line which has only one point in common with a circle is called
Cosine of a Circle Cosine ¥ <./l (B) Sine of a Circle Sine ¥ 71 (A)
Secant of a Circle ~  Secant ¥ </b (D) Tangent of a Circle Tangent ¥ o/ (C) |
Ex LA wBE e s n P .c....ﬁ}d)}\ﬁ;‘ ;_-:_ (14]

‘A pair of chords of a circle subtending two congruent central angles is : !
... Panallel $17 D) Overlaping /17 (C) Incongruent ¢ (B) Congruemt Jir (a) |

The measure of the external angle of a regular Hexagon is : : .,-_me&_ma,ﬁ;_' S _ﬁ! (15) |
| A a3 ) 0y ' F |

= D — — R — f f
SR R L T SR T {r} g o 4 AL W 5 |

i
i
|

*-*Mﬁ__;_- e S SR SR
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Mathematics ( Subjective ) 60 : AF &0 5 |ssc-a2019] (280

;¢ﬁw+diﬂb5ia}m/*:£+121 (8-8)CUirz ik 4 i3, 2 AWrPisr ¢ =Ll »
-q.&u.c..g{."lrﬂ;{f &u/ﬁ?.‘a[/‘.’dlr i {Qf@iﬁ_ﬁ:.dm &t}dlr.ﬁ.g{fd'aﬂfrufc. Jf

Note : It is compulsory to attempt (6~6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part []
while Q.No.9 is compulsory, Write same Question No. and its Part No. as given in the question paper.

! 1 y
36=2x18 E_( Partl) JsLe| [Make diagram where necessary. ../ '.-‘d'-’f:rdn,*u;l
Solve by Factorization 3 = y(y-5) LA SEgs ® 24
Define Reciprocal Equation. --u}-“r 7§ e g iy

- 2 + 120 = 0 ZAPron A L e (i)
Find the nature of the Roots of the given equation. xF-23x + 120 = 0

Evaluate. w';? + w38 -5 -;)_‘)H".:-f (iv)
Write the Quadratic Equation having given roots 4,9 -u:'f b Fnes d,9ujy .‘f.é.; (v)
Define Simultaneous Equations, -ufg.é'/- S Ul an (vi)
Define Direct Variation, _ w7 end o
Find the Fourth Proportional to : 5,8,15 2 L B (i)
Find the value of " p” in the continued proportion. 5, p.45 -g{wﬁ’p » c.-,-rﬁfyffé.: (ix)
Define Improper Fraction. K .(f) LIwF S Sand @) 340
Define Union of Sets. /,?'.\E\ > »&F’ WP S Ly ¥ o i

e B A%@RJ A= {a,b}, B= {c,d} S

P
If A= {a,b}, B = {c,d} then fin Q{@}"x Band B x A,

Find "a"and "b" if : (r»{\*r\'@ v.S/IJ--Z]" (2,1) Sie b o " a v
Define One-One Function. ‘F?EL . _a{..yi ¢ Musgh )
Define Standard Devialiq{{f"v < -71-‘{-!',; U(-JI/’UJL-‘ (vi)
Find the Geometric Mean of the observations 2,4,8. ig;ﬂ" AT 2,4,8 =ls (vil)
Define Harmonic Mean. -;.f::yi g L-:l_ﬂff? (vill)
Find Range for the following Weights of Students : L 2o § I Enl WP )
110,lm.ﬂ‘l.39,?7.1‘[".?4,?7,49,59,103.52
Express 315" Angle into Radian. -zau:c;.g, £ i35’ ) 840y
Verify the Identity. (tan® + Cot€ )tan® = Sec’® e { L i

What is meant by Right Angle? Sedpd e LIFF (i)

Define Circle, *.4(..4!/‘1 S ot (iv)
Define Chord of a C.irclc. Sedr = 5 L (v)

Define Tangent of a Circle. Se-spe U £ i (vi)

What is meant by Segment of a Circle? Tg..nlfy' e p Al (yif)
Define Inscribed Circle. B S st OB

Define Perimeter, et e s (ix)

e S —




i
i
1
1
i
i
i
1
I
I
1
'
I
1
i
i
[}
]
'
i
1
i
i
i
i
i
1
i
L
i
'
1
i
1
i
'
'
L
i
"
1
|
1
1
1
I
i
i
'
i
!
'
i
[
i
L]
]
i
'
I
L]
1
i
1
1
i
1
[}
i
L}
i
J
]
I
"
!
{ ]
1
!
i
I
I
!
i
L
]

LK.NO. 114

§ !(Partll}(s_i LIy O S
LS ene J () 540w

x -3
(4) Solve the given Equation. 3.3 *4 ( )-— 4

(4) qq,,f»#.:.é.j’l,'r %?uﬁgﬁ;ﬁ 2+ mx+n=0(1#0) =B, oc Sl (&)
o< P

- 2 =
If oc, P are the roots of the equation Ix“+mx+ n =0 (1#0)

1
i —

2
P a [ e ,}'J |
(a,b,c d,e,f # 0]-;-'--&-:—?- N () 6w

1
then find the value of —
oL

(4
2
€ a C e

L v A R PR O T

|
|
|
|
|
f # 0) then show that |
l
1
|
[

ce ea az cz ez
a € == =
b df fb bz d f2
o JJE Uz (D
(4) Resolve into Partial Fractions. (54 3”"2 1) J<\5¢{ 1

u={1,2,3,4,5,6,7,8,9,10 }, A={1, ;5,%?{\9(’] s B = {2,3,5,7})’1(.111) 1/

f’\_)
(AUB}\:\{?B’ S ek i

4
0

= 7

!fU#{lZBiS&?BQ%D\fg,A{135'?'9],3 {2,3,5,7}
then prove that Ngf@/ =A N B ‘

ﬁv 9,3,8,8,9,8,9,18 4"#"5"_:/*1:5@(.,)

(4) |
jation " S " 9,8,9,18 i
Find the Standard Deviation 5 9,3,8,8, I}

14/8in6@ _ 1- S'THQ 7§ tan©5ecO _,’4:._,._;(_#1) sf_fdlrJ
(4) Prove that : 1 - §in© 1 + Sin® l

arsddd oL e 17 s € ABC BB (o) '

side of

(4)

Inscribe a Circle in an Equilateral Triangle ABC with each

——

length 5cm. |
Lunebiifsiie /S’ 0w’ umf o La i A 9 )y

8) '
| then they will be equidistant from

If two chords of a circle are congruent

the centre.
OR M

Y, O QY ST H PR L AZ st L(d.}-')(f(

The opposite angles of any Quadrilateral Inscribed in a circle are

supplementary.

—— RS - =, -

T il



Paper Il (Objective) SSC - A -2018 “ Group First H NN 4B -
: ﬁ-ﬁ:
/./

Time Allowed : 20 Minutes SSC(Part-1l) o 20

T8
Maximum Marks : 15 Session ( 2014 -16 ) to (2016 - 18) 6'/, . 15

w 91

! -f_;:,!c..ufi_.ﬁu‘i;uw&&»&.,Az;.m...-_.,_,cu,.vr:.e‘.'{..z.vﬁdlrﬂg,gr‘yf_.bcac,;.: 0,C.8.A=trlllJrs 1 g
\ _l’:n.rjj.ﬂ.,.rf.ﬂuﬁL,dwt._f.gf.bru../g"uur:utmi

. Four possible choices A, B,C,D to each question are given. Which choice is correct, fill that circle infront of that question

MDdE 0l {D} GEGI'I'I-EIHC Mean H’U‘)l {C;l H;rmgnm Mean Hj‘-ﬁ.fr: (BJ Medlan ..“__, {A:I .
:_3% Radian = 30° (D) 150° © 135° ® 15° () = b 3:‘» - (10)

Locus of a point in a Plane Equidistant from a fixed point is called --——-—-—
Z ~ Circle +7h (D) Radial Segment .nUU'lu (C) Diameter ,J" (B) Radius Vi (A)
A ﬂnl which has only one puinl in common with a circle is calltd ; u‘.'g.’;.f x.f/"ﬂﬁ..f ..Jf.ib—ﬁc.zl; ¥ u” H..fﬁ (12)

:- Sine of a Circle Sine ¥ «7i» (B) Tangent of a Circle Tangent 67 (A)
(D) Cosine of a Circle Cosine l' s (C)

I Secant of a Circle  Secant ¥ il
L'u.m)fuﬂ " u"'.:..:..u.l.n ” -d...:l';df/LFI.a" .1.-i (13)
A Pair of Chords of a circle subtending two congruent central angles is
~ Parallel L!.:f?' (D) Incongruent Jﬁ?’/ (C) Over Lapping J)‘ (B) Congruent uflf‘ (A)
The Tangenl and Radlus of a circle at a point of Can'!act are uTL.n‘ .fa,/u...f s ol g I";..f!.s (‘14)
Equal <z (D) Perpendicular .v.r" (C) Not Perpendicular u‘ﬁ'r’ (B) Parallel  JJi# (A)

| The measure of the External Angles of a Regular Octagon is : ﬁ:.dmlmdugsl.rdwﬁ.u;?"_ﬂ (]5]-

| A A 3
E 5 O F © 7T B % (A) PwlPojoq—%

- ; o . . S L
- -
T T T o o "

Not
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,
1
LH - ! i
An equation of the type 3!4-32 *+6=0is a/an -_ﬁq.-(’in +3 Xep=0 =ble1A)r
| Reciprocal Equation =lia# (B) Exponential Equation ebl-dued (A) 1 (1)
j Linear ‘Equation -.-rb"#'l)u (D) Radical Equation "Pd"‘:' (©
Prnduct of Cg_be Roots of unity is : 3 (D) -1 (©) 1 (B) 0(A) - 'I—*r'm ¢ ‘l"q“" ’:"jr- ':2;'_..___._;
iﬁ : q..n;i’zp ..ul Zo{uju?un})ml:l’xz+qx+r=0ubb'ﬁfbﬂf (3)
I oL, B are the roots of equation Px? + gx + r = 0 , then the sum of the roots 20¢and 2B is - |
i 29 o L @ 2
oy i (D) - (] P (B) P (A)
rrrrrrereTe— . = 5 4 e . . o " LIRT FU. J e S5 i (4]
The fourth Proportional " w " of x:y:iiv:iw s = i — g y
v xy :
| oo © = B 5 W
If a:b= x:y then Invertendo Property is : 3 {E..; A aib = x:y S - (5)
! A\ A
: b a |/ \v’ a - X
1 2. Llp -2t o R E Ty W 1
2x+1 ; \-/L A ¢ 2x+1 (6) |
i 15 a g '?' = + 1 |
H(x*1)(x -1) \JF) (x+1)(x-1) :
| An Equation v’(B] An Improper Fraction /..--?ls,r’ (A) i
r““\‘- i i
N !
An ldenmy% !.4’ (D) A Proper Fraction A2t () i
If AcB then AUB is eqijv i stz AUB 7 A<B JSi (T) E
d @ A B B (A | |
: ! f-dﬂ:iﬂJuﬂluCA B;HdJBszISJIﬂJUQrbCA__.,fﬁ (8)
'If number of elements in Set A is 3 and in_Set B is 4, then the number of elements
m A xB is @ _ ? (D) ]2 ©Cp, 8 (B) 3 (A) ]
Th; most flequent occurrmg obser\rauon in.a Data is called . -:.aﬂi’ UL Lepplic o f sy {5/ 9



. R o A S

m T

- T

: - P —— - i
2 . :
RC)) x  + 17x + %f— = 0 _1’5:}’ :..d/dr-‘-f.z,lsv Jd: () s4)
Solve the given Equation by Completing Square. 12 + 17x + -‘11 =0
@ >4y 2o 3xyz = (x +y +z)(x + wy +wiz)(x + wiy + wz) fﬁ‘#@aﬂ (&)
Prove that :x3+ y3 + zB-Sxyz =(x+y +z)(x+ wy +wzz)(x +w2y+ wz )
: a c _ e .
(4) @f.-f.t-;.d_.,)zi “K "3 (a,b,c,defF0) =77 S ed
a _ a2 +c2+ez
b b2+ d%+
a _ ¢
If - = '&"""f"(a b,c,d.e, f=[:0) I:hen show that by uisng
- T T
"K" method : — = Ji-;—cz*-—e-z-
b b*+d”+f
(4) Resolve into Partial Fractions. o3t r.\v',. ..t_[/;kl{;! .:/Lf:? ()
{x—d](x-—.‘ils)\
Al | v
u={1,2,3,4,——,10 } , A ={1, 3,??\,37 4\ #B={1,4,7,10} /1 wn 74
1\
“ B 7 >»R’n B Sy Sz
Q
If U ={ 1,2,3 ,4,—-,10 } f_‘ﬁﬁ—“?l,.ij,?.?} s B ={1.4.?.10}
I

Aﬁ}j ™ ’
then prove that(»\"A~-B = ANB
’\.\j‘“’

(4) Find Standard Deviation " § " of : -I.Z/?-"k’ "5 ._iy;lg,a_l,u ()

12,6,7,3,15,10,18,5

1 + Cos© Sin®
(4) Prove that : S5in® | 1+ Cos@ = 2Cosec® S '4:-;.& ()

_ﬁerf”uﬁquﬁ 54 (2 SMu:}'i:LnL/(gf: 2 ()
(4) Draw two common tangents to two touching circles of Radii 2-:5cm

and 3-5cm.

(8) -ty o BABE S (i ) 5 gf:.y}z:;_;u J 4(.:,.&
Prove that A Straight Line drawn from the centre of a circle to bisect a
chord (which is not a diameter) is perpendicular to the chord.

OrR W
S Ll I,ung!:(,ta}b.-ﬁﬁ..{l zesi S $/-.-4&

Prove that Any two angles in the same segment of a circle are equal

8 4y

9 A
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[
1
A
i
i
1
1
1
|
!
i
i
'
]
i
L}
i
i
]
!
1
i
1
i
'
i
i
|
1
L
i
L
1
I
'
|
i
!
i
1
i
i
'
1
|
1
i
1
]
{
t
I
i
I
1
i
|
i
[]
|
f
I
|
i
I
|
[
i
I
I
|
|

(4) X 4 17k 5 s 40’4:.6/1,"?:( =yl J{,‘; (._JJI) s/Jl,q

4
Solve the given Equation by Completing Square. x2 + 17x + '3—43'- =0

2 e ez

(4) Resolve into Partial Fractions.

4) % +y3 + 7.3-3xyz = (x +y + z)(x +w}r+wzz)(x + wzy+wz} - ,fg(.:.r! (L)
Prove that : x° + y3 + 2= 3xyz = (x +y + z)(x "W*WzZH" +W2}"" wz )
a _ ¢ _ e .
(4) 4:—.4!*;.&_‘.)4: "K"37(a,b,c,d,e,fF0) -+ = A 64
a =‘Jaz+¢:2+u=:2
b b2+ d® + £ |
|
a C '
If T,“="c'i"'"'f_(a b,c,d, ef:i:ﬂ) then show that by uisng
2 2. -2 !
a a +¢c +e |
"K" method : —_— = | —— |
b \Jb2+d2+f2 : |
A\ ,
7x = 25 f’ E
i

{x-4H f-n{i;f

<\
u={1,2,3,4,—,10 }, A -{@, 5787, 9}.«:: B={1,4,7,10} /i w» 74
by
@ a\"ﬁ‘:’ AnB’ Syt in
r'\"|</\
fu={1,2,3, 4.-“10»};&53( ={1,3,5,7,9},8={1,4,7,10}
d\\,‘.

then prove thﬂf‘v A-B = AnB

(4) Find Standard Deviation " § " of : A s O

12,6,7,3,15,10,18,5

1 + Cos© S5in© ;
(4) Prove that : Sin® 1+ Cos® ~ 2Cosec® fg:'-»:l.' ) 84J

s Pl B350 (2 SUMENIERI ST 5 (L

(4) Draw two common tangents to two touching circles of Radii 2:5cm

and 3+5cm.

(8) -f_hl.wfg;x ‘ Bﬁﬂhi-/(ui;:‘"- J ( :t-'ﬁ.ﬁ )75 If’ c.‘-?:’é:(_.?l: & 4:141‘ 9/';|J

Prove that A Straight Line drawn from the centre of a circle to bisect a

'Iu-..n.--\.—-’.n—u.-n.—_-

chord (which is not a diameter) is perpendicular to the chord.
OrR W
- UL sda O S WGl 2 sti S Gt

Prove that Any two angles in the same segment of a circle are equal. !
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Mathematics A || L.K.No. 114 Paper Code No. 7192

Paper  Ii (Objective) SSC - A - 2018 'ﬁ' CARP) I 3y
Time Allowed : 20 Minutes SSC(Part-1l) < 200 st
Maximum Marks : 15 Session ( 2014 -16 ) to (2016 - 18) 15 . AF

©® 9N Jf”tﬁ"/

I fe B SAS I L 2 e ne L s MR- s L& D,C B, AUzl 1 e
_&Jﬁbuﬁamodﬁ@aaﬂfd.f.pr_-de_fJu”buu:_hﬂ
Note ; Four possible choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

e el e T R R SR P

i =——ma—= WK then : (x /I\L\_U/J

i - ‘\\t“
The Set {x,fxew.o\ :-ﬁaﬁ is

“Two Linear Factors of x° - 15x + 56 are
(x -8) and o (x +7) (B) (x +8) and ot (x - 7) (A) (1)
(x +8) and 4 (x +7) (D) (x-8) andal (x-7) (C)

- P o"(F”;'UHJ.m‘:?x -x+4=0_|JLr'P‘o(/| (2)

IF o, P are the roots of equation ?xz -x+4=0, then e{P is

= 7 4 =1
—.? [D] "4_ (< - (B) 7 (A)
The Discriminant of equatmn ol tixbc =0 6 ! D ettudg/ax" +bx v =0 2bls (3)

b- dac (D) -bP+dac (@ b’ +dac (B) b -dac  (A)

If yz ol = then : “:) f'\“{’?’.- 2 A | (4)
' i 2 Oy .
Y 5 o Fed @ =Oxf\€;:-; By
' S 8

w=vK (D) u=whk @\ﬁj- vkt (B} u=wk® (A)

LT

f N
?[x+3]z= x2+ﬁx +9 is a : f,\:\"\{)\( P ..J_E'l[x+3]2- x2+6x +9. (6)
|
An Equation ,@W == (B) A Linear Equation mw;».{ (A)
Standard gquﬁf\‘l&ﬁ' =lbafils (D) An Identity ._fl.:'

.;..:-uf { x{xEWAx <101} (7)
Finite Set ....-rr.ﬂ-' [D] Null Set ...rdlr {C} Subsetl -"U? [Bj Infinite Sel .—PLFP/ (A)

- ST — .

Puw‘er Set of an Empty Set is .I—...L':f.....-wt ¥ orde (8)

{a} .(D} {¢' {a}} © {'i!} ® © ()

The most frequent occurrmg uhsewntlnn in a Data Set:: ca]led o q.;}lﬂr( dhd..f.-ﬁ:l.;_...,.ﬂ,ﬂ sy UJ (9)
Amhmehc Mean L—:IQL-" (D] Harmomc Mean J-Ji-.-ﬂ'{f (C) Medlan ..—Ii-: (B) Mude uh [ﬁq

T SRR

—3;;?5 Radian = 3:]“ (D) 15[#':I (C) 135° (B) 115° (A) = fis (10)
_A Complete Circle is divided into : T e S :...?u‘); (1)
w0 o) @ s m 0% () |
A Circle has only one P ---l..F-A.f-J,."l-':..zb..fl - (12)

The Arcs opposite to incongruent central angles of a circle are always -———-

Hov;r”r.l.mny common tangents can be drawn for two !ouch[ng circles : wék@hJVJ/}‘ZLUU‘:QﬂL/f » | {14}

Diameter (D) Centre 47 (C) Chord 7 (B) Secant dﬁg_w
dn

Mlmvéupu;sww/ Lt ] - (13) |

Perpendicular .u’{D;l Parallel U')JP' (C) Incongruent LFI-"/ (B) Cnng;ruem LFU"' (A)

1P r Q. 2 &) 1B

The measure of the external angles of a regular Octagon is : : ?Jn;lﬁd’u;':ljdmﬁ.c? fﬁ' L (15)
= A = -
v O 5 © F B F (A

e PP B Y e B o —2—1 &

;,,-_.'.:,tgd,u._x_’.' w L :nzv 15x +56 1 /.“Ulr.

o e e e e e



(2014-2016) to (2016-18 ) = Fegs/ 114- 2 D000 S
60 : AF 282:10 =% | SS.C(Part-11) | SSC-A-2018 S8
e L SIS ez lnzt (6 -6) s ek 4413, 2 AIr§*Uns ( =l P

w-lisg 2 M2 Sz ) s f(éf‘!'ﬁ-?-djugf{ﬁfﬁqdfwwmﬁﬂ-df

Note : It is compulsory to attempt (6 —6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Past 11
while Q.No.9 is compulsory. erBsame Queﬂmn Ng. and its Part No. asgwen in the qulbstion paper.

A8 — -
36=2x18 [Make diagram where necessary. - h;ﬂ}’sda}ug Jsle i G ,.af ] 0'{"": (P“: ::

What is meant by Quadratic Equation? 'l'q.ﬁfl[a:. = w (i) z/?dlr
Solve. X>ex=20=0 LY i

Find the Discriminant of 2x°=7x + 1 = 0 ..;.,{)f-i-'u:d’J) ¥ 22— 7x +1= 0 (iii)

Prove that the product of Three Cube Roots of Unity is one.

]
1
|
bt Ll ALY iU LIS S (i) i
"
|
l

Define Simultaneous Equations. -g{f-&ﬁ!u}bb‘:lf'“ (v)
Evaluate, (2 + 2w = 2w2 H3=3w + 3w2} -;{)?.\"’.:.ﬂ- (vi)
Find a Third Proportional to 28,4. LB K 28,4 (il
Define Ratio with one example. -q:uﬂ}k.p 2 L{f_g}.‘L( = (vil) !
Find "x “. Ix-2:4::2x+3:7 -Q)H’:—EJ“::"{‘::] |
Define Fraction ”n\fi’l; N 4:.#,; L; / (i) J-J'.}IJT!'
Resolve into Partial Fractions. D _ @ - 4:/&? ¥4 U-'/ G2 (i)
(x +1)(x~3) ,\j\{; i
Define Union of Sets. 0\9 -qf-é'/’Jut:s‘lur’ (iii)
o XN Y ?@{’245 9} # x=1{1.4,7,9} Siaw
if x={1,4,7,9} and Y= {2,4,5,9}, th\\é"'d XNy,

éﬁx Y 7y ’{4’;12—-24};.”( {2,4,6,—,20} Sl |
f X = {2,4,6,—,20} and Y-&fx 12-"-24}then find X~ Y. |
xA # AxB 7B ={cd} o a={ab} Joi
if A=1{a,b} and B\B“‘){c d}thenﬂnd Ax B and B x A

Define Arithmetic Mean. -&ﬁf-!f" g b3l (vii)
: Eﬂﬁdswaq&hé?gﬂ&:‘iuﬁs.ﬂﬁx (viii)
LI Eusen 82,93,86,92 s 79
On Sterms test in Mathematics, a student has made marks of 82,93,86,92 and 79
Find the Median of the Marks.
Find the Modal Size of Shoes for the following data : -'qf,:#.:u;»&lrw;_f,‘.&wfywduk s bipir (ix)
4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7

Define Degree Measure of an Angle. -4:.#_/{;[5/"5 J,,IJ (i) 4/-.‘Ulr
Express _25?.“.. Radian to Degree, ...4;554,&36}}:" efhs .2; (b
Find " © " when | = 2cm and r = 3.5¢m 1 =2 nr = 3.5 (7 .&4?# "e = (%)
Define Obtuse Angle. -4:4-/7 d’.,:u.a.f' (iv)
Define Collinear Points. JI g SERA (v)
Define Tangent of a Circle, Slws § uv S (viy
Define Sector of a Circle. NS Y. AT
Define Cyclic Quadrilateral. .'{_y‘*’ g LK (vii)
Define Inscribed Circle. 4&; § ot (ix)

B - 5 h? P__ il 1_____‘ % P.Tb. ....... :




4) -$(J e J L Uy 2 e 6x2 -3-7x =0 < () 5/.}‘.}':"

Solve the equation 63(2 =3-7x = 0 by using Quadratic Formula,
2
o) JJ"'JL{ E ?wrujuﬁ 4x2-5x+6=r 0 =hi-B, ﬁ(__,)
If o, P are thg Raotsz of lhe equation 4x* -5x + 6 = 0 then find the .
< B
value of N pre—
P :
i
@ g::r.l.'c.é_’,.)ﬁ"l("? (a,b,c,d F0) a:b=c:d J wn ﬁﬁdlr?
4a -9 _ 4c -9d E
da + 9b " 4ec + 9d E
i

If a:b =c¢:d (a,h,c,d#ﬁ) then show that by uisng " K" method : |
4a - 9b 4c - 9d
d4a + 9b 4c + 9d
(4) Resolve into Partial Fractions. Zxrd 3 ¥ _L{):klf R iz
(3x+2]{x+1) , “_'(_,11
oS
U={1,2,5,4,567,8,9,10},4a ={1.3,5 9}’»: B={2,3,5,7} S 1
52
@ (AUB) N A‘f }" Syt I
\\,
If U={1,2,3,4,5,6,7,8,9, 10} ,\9 4;{ .3,5,7,9},8={2,3,5,7}
A e\ )
then venfg\th‘zt (AUB) = Ans
(4) Find the Standard Dev;aﬁb:ii' b 1 2 2 -;_[/r’h"' ? g ..Jl/‘.id.fl_.v ()
\“-./

12,6,7,3,15,10,18,5

(4) Verify that : SecO - Cos® = tanOSin® SLl oy 8w

@ U 3 305 AU CA 4 BC, AB LIME LB basbs® ¥ ABC &8 (L)

Inscribe a Circle in a Triangle ABC with sides

B

|AB| = 5cm,|BC|= 3cm, |CA|= 3cm
(8) -LUHJ-‘WU:L*;%:}JJ!J 5w Lty N J g(.;p:i.‘ 9 Ay

Prove that if two chords of a circle are congruent then they will be

equidistant from the centre.

OrR W
...q.rnbﬁn:..A__:Uu‘;ﬁ-/;{f;wUalﬁfsljd.'&'ﬂhic.-/."'uiﬁgﬁbuf F 4‘:&;!’

Prove that the measure of Central Angle of a minor arc of a circle is

double that of angle subtended by the corresponding major arc.



